


ï 

 



î 

 



í 

 



ì 

 



ë 

 

 



ê 

 



é 

 



è 

 

ø¨÷

  

ø¨·÷



ç 

 





Subject Code : 101 

Subject 

Code

Exam 

Date

Q 

Id
Questions

Answer 

Key

101
09-
09-
2018

1

Which of the following provision can be amended by the special 
majority of Parliament?

!"#!$%&' () *+ ,-" *. /.01." *2*3 ,+ !04+5 67(' *+ *248!1' !,9.
:. *,'. ;<?

(A) Use of official language
=!1,.>?, @.5. ,. /98A

(B) Fundamental Rights
(-!$, B!1,.?

(C) Use of English language in Parliament
*2*3 () B2C+:D @.5. ,. /98A

(D) Formation of new states
"9+ ?.E82 ,. !"(.FG

(B) 

101
09-
09-
2018

2

In May 2018, International Conference based on the TRIPS CBD 
Linkage was held in ______.

(H 2018 (), !IJK *D6DLD !$2,+ : M? =1.>?' B2'?.FNJ D9 *O+$" ______ 
() =98!:' 7= P.Q

(A) Switzerland
%RI:?$SL

(B) China
TD"

(C) Israel
U:?.U$

(D) United Arab Emirates
*29VW B?6 B(D?.'

(A) 

101 09-
09-
2018

3 Which of the following depicts the nature of the image in human eye?

!"#!$%&' () *+ ,-" *. ("VX ,D =Y& () /!'!6Z ,D /,[ !' ,8 34.F'.
;<?

(A) Real and inverted
0.\!0, 'P. ]^D

(B) Real and erect
0.\!0, 'P. *D1D

(C) Virtual and inverted

(A) 

Annexure I



=@.*D 'P. ]^D

(D) Virtual and erect
=@.*D 'P. *D1D

101
09-
09-
2018

4

In July 2018, which of the bank have joined hands with State Bank of 
India to provide collateral free credit through group Joint Liability 
Groups in Telangana?

:V$.H 2018 (), !,* 6S, "+ '+$A.2". () *29VW 3+9'. *(_; ,+ (.`( *+
*2M.!aF, (VW b+ !LI /3." ,?"+ ,+ !$c @.?'D9 d+I 6S, *+ ;.P !($.9.
;<?

(A) IDBI Bank
=HLD6D=H 6S,

(B) NABARD
".6.LF

(C) Bank of India
6S,ef U2!L9.

(D) ICICI Bank
=H*D=H*D=H 6S,

(B) 

101
09-
09-
2018

5

For which age group UIDAI has launched the blue colour card?

9_=HLDc=H "+ !,*=9V 0AF ,+ !$c "D$+ ?2A ,+ ,.LF ,. $8,.MFG !,9.
;<?

(A) 0 – 5 years
0 – 5 05F

(B) 0 – 7 years
0 – 7 05F

(C) 0 – 10 years
0 – 10 05F

(D) 0 – 12 years
0 – 12 05F

(A) 

101 09-
09-
2018

6 In the following question, out of the four alternatives, select the 
alternative which best expresses the meaning of the idiom/phrase.

Actions speak louder than words

(A) what someone actually does means more than what they say they 
will do

(B) Words are very powerful they can move mountains

(C) the pen is mightier than the sword

(D) those who bark seldom bite

(A) 



101
09-
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7

In the following question, out of the four alternatives, select the 
alternative which is the best substitute of the phrase

The use of irony to mock or convey contempt

(A) Accolade

(B) Eulogy

(C) Plaudit

(D) Sarcasm

(D) 

101
09-
09-
2018

8

In the following question, a sentence has been given in Direct/Indirect 
speech. Out of the four alternatives suggested, select the one which 
best expresses the same sentence in Indirect/Direct speech.

He said to his friend, "I will be driving to the city tomorrow."

(A) He informed his friend that he will be driving to the city the next 
day.

(B) He informs his friend that he would be driving to the city the next 
day.

(C) He informed his friend that he would be driving to the city the day 
next day.

(D) He informs his friend that he will be driving to the city the next 
day.

(C) 

101
09-
09-
2018

9

The question below consists of a set of labelled sentences. Out of the 
four options given, select the most logical order of the sentences to 
form a coherent paragraph.

To serve more pedestrian

A-street food vendors congregate

B-each evening at the riverside

C-gastronomic pleasures, Siem Reap’s

(A) ACB

(B) BCA

(C) CAB

(D) CBA

(C) 

101 09-
09-
2018

10 Answer the given question based of the following passage. Socrates 
tried to answer the question, ‘How to live?’ Kierkegaard attempted it, 
too. Posing the same question to the average Indian, one can expect 
such an answer: get educated, find a decent job, save money, get 
married, procreate, save more money, build house, ensure safe 
retirement and die. Of course, some indulgence in entertainment now 
and then, or daily, is assumed. Anybody who strays from this trodden 
path is dismissed as a lunatic.

(B) 



What is a person who does not follow the normal way of life is 

regarded as?

(A) He is understood to be sensible.

(B) He is considered crazy.

(C) He is dismissed as a visionary.

(D) It is thought he is an ascetic.

101
09-
09-
2018

11

Marks obtained by two students are in the ratio of 7 : 5. The product of 
their marks is 2835. What are the total marks obtained by both the 
students together?

38 !0g.!PF982 h.?. /.i !,c Ac B2, 7 : 5 ,+ B"VM.' () ;<Q ]",+ B2,82 ,.
AVG"f$ 2835 ;<Q 38"82 !0g.!PF982 h.?. !($.,? /.i ,V $ B2, !,'"+ ;S?

(A) 109

(B) 118

(C) 108

(D) 119

(C) 

101
09-
09-
2018

12

In a beaker, liquid A and B are in the ratio of 5 : 7 respectively. In 
other beaker, liquid B and A are in the ratio 13 : 11 respectively. In 
what ratio, mixtures from these two beakers should be mixed to get a 
new mixture containing liquid A and B in the ratio of 9 : 11 
respectively?

c, 6D,? (), '?$ A 'P. B b(4j 5 : 7 ,+ B"VM.' () ;<Q c, Bk 6D,?
(), '?$ B 'P. A b(4j 13 : 11 ,+ B"VM.' () ;<Q U" 38 6D,?82 () *+
!(lG82 ,8 !,* B"VM.' () !($.9. :.". T.!;c '.!, c, "9. !(lG /.i
;8 :.c !:*() '?$ A 'P. B b(4j 9 : 11 ,+ B"VM.' () ;8?

(A) 4 : 1

(B) 1 : 4

(C) 1 : 3

(D) 2 : 5

(B) 

101 09-
09-
2018

13 (A) 



(A) 60

(B) 78

(C) 36

(D) 48

101
09-
09-
2018

14

If 0 < A < 90o, then what will be the value of cosec A – cot A?

9!3 0 < A < 90o ;8, '8 cosec A – cot A ,. (."m. ;8A.?

(A) √[(1 – sin A)/(1 + sin A)]

(B) √[(1 – cos A)/(1 + cos A)]

(C) √[(1 + sin A)/(1 – sin A)]

(D) √[(1 + cos A)/(1 – cos A)]

(B) 

101 09-
09-
2018

15 **** CASE QN **** (B) 



**** CASE QN ****

What will be the difference (in Rs) between selling price of article A 
and profit earned on article C?

0\V A ,+ !0b9 (_n 'P. 0\V C M? /.i $.@ ,+ (` B2'? (o ()) m.
;<?

(A) 7000

(B) 13000

(C) 20000

(D) 17000

101
09-
09-
2018

16

In the following question, select the related number from the given 
alternatives.

54 : 197 : : 96 : ?

!"#!$%&' /p () !3c Ac !0,q82 () *+ *262!1' *2r. ,8 TV!"cQ

54 : 197 : : 96 : ?

(A) 239

(B) 229

(C) 249

(D) 219

(A) 

101 17 (D) 
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Eight boxes A, B, C, D, E, F, G and H are kept one above the other. 
There are 4 boxes between F and C and F is kept above C. Total 7 
boxes are kept above C. F is not kept somewhere between D and E. 
One box is kept between the F and B and B is at fifth position from 
top. There are two boxes between box D and box E. Which of the 
following box is at fourth position from the top?

=s !Lt+ A, B, C, D, E, F, G 'P. H ,8 c, ,+ uM? c, ?&. A9. ;<Q F 
'P. C ,+ (` 4 !Lt+ ;S 'P. F ,8 C ,+ uM? ?&. A9. ;<Q C ,+ uM?
,V $ 7 !Lt+ ?&+ Ac ;SQ F ,8 D 'P. E ,+ (` ,;D 2 @D ";D 2 ?&. A9. ;<Q F 
'P. B ,+ (` c, !Lt. ?&. A9. ;< 'P. B uM? *+ M.YT0) vP." M? ;<Q
!Lt. D 'P. !Lt. E ,+ (` 38 !Lt+ ;SQ !"#!$%&' () *+ ,-" *. !Lt.
uM? *+ T-P+ vP." M? ;<?

(A) D

(B) E

(C) B

(D) D or E
D BP0. E

101 09-
09-
2018

18

(A) 

(B) 

(C) 

(A) 



(D) 

101
09-
09-
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19

In the following question, select the odd number pair from the given 
alternatives.

!"#!$%&' /p () !3c Ac !0,q82 () *+ !05( *2r. 9Vw ,8 TV!"cQ

(A) 11 – 119

(B) 13 – 167

(C) 18 – 326

(D) 24 – 574

(C) 

101 09-
09-
2018

20

(A) 

(C) 



(B) 

(C) 

(D) 

101
09-
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If a particle is moving in Simple Harmonic Motion in a simple 
pendulum with some period of oscillation, then in order to double the 
period of oscillation

9!3 c, *.1.?G M)LV$( () c, ,G *?$ ;.(x!", (84" () ,V y =0[!z
,+ *.P T$ ?;. ;<, '8 !f? ]*,D !;$"+ ,D B0!1 ,8 38AV". ,?"+ ,+ !$c

(A) mass of the bob should be doubled
6{6 ,. !M2L 38AV". ,? 3+". T.!;c

(B) mass of the bob should be halved
6{6 ,+ !M2L ,8 =1. ,? 3+". T.!;c

(C) length of pendulum should be doubled
M)LV$( ,D $26.H 38AV"D ;8"D T.!;c

(D) length of pendulum should be quadrupled
M)LV$( ,D $26.H T-AV"D ;8"D T.!;c

(D) 

101
09-
09-
2018

22

A wound watch spring possesses energy in the form of

c, |!' }~D %�2A u:.F ,8 !,* �M () 1.?G ,?'. ;<

(A) kinetic energy
,.U"+!I, ]:.F

(B) spring energy
%�2A u:.F

(C) mechanical potential energy
9�D9 *2@.!0' u:.F

(D) none of these
U"(+ *+ ,8H ";D 2

(C) 



101 09-
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23 If on removal of effort, the machine is capable of doing some work in 
reverse direction, the machine is called

9!3 l( ,8 ;I."+ M?, (4D" !0M?D' !34. () ,V y ,.( ,?"+ () *|( ;<, 
'8 ]* (4D" ,8 ,;. :.'. ;<

(A) reversible machine
M>?0'F"D9 (4D"

(B) irreversible machine
BM>?0'F"D9 (4D"

(C) reversible or irreversible
M>?0'F"D9 9. BM>?0'F"D9

(D) both reversible and irreversible
M>?0'F"D9 �? BM>?0'F"D9 38"82

(A) 

101
09-
09-
2018
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(A) (a)

(B) (b)

(C) (c )

(D) (d)

Question 
Withdrawn 

101 09-
09-
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25 Bending moment M and torque T is applied on a solid circular shaft. If 
maximum bending stress equals maximum shear stress developed, then 
M is equal to

(A) 



�V,.0 M$ M �? I8� T c, s8* A8$ 4.� M? $.A_ !,9. :.'. ;<Q 9!3
B!1,'( �V,.0 '".0, !0,!*' B!1,'( ,'?"D '".0 ,+ 6?.6? ;< '8
M 6?.6? ;<

(A) T/2

(B) T

(C) 2T

(D) 4T

101
09-
09-
2018
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Which among the following are the types of normal stresses?

!"# () *+ ,-" *. *.(.k '".0 ;<?

(A) Tensile and compressive stresses
'k�? *2MD~" '".0

(B) Tensile and thermal stresses
'k�? '.MD9 '".0

(C) Shear and bending
!49? �? �V,.0

(D) Compressive and plane stresses
*2MD~" �? *('$ '".0

(A) 

101
09-
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The shear stress along the principal plane subjected to maximum 
principal stress is:

(Vr !0(." ,+ *.P !49? dJ +* B!1,'( (Vr '".0 ,+ B1D" ;<:

(A) minimum
k_"'(

(B) maximum
B!1,'(

(C) zero
4_k

(D) any value depending on loading conditions
$8!L2A M>?%vP!'98 M? =1.>?' ,8H @D 0<n_

(C) 

101 09-
09-
2018

28 Which of the following statements is true?

!"#!$%&' () *+ ,-" *+ ,P" *� ;S?

(A) Procurement cycle time is time consumed for receiving of raw 
material
/.%i Tb *(9 0; *(9 ;< :8 ,�+ (.$ ,8 /.i ,?"+ ,+ !$c $A'. ;<

(B) Procurement cycle time is time consumed for inspection of various 

(A) 



raw materials
/.%i Tb *(9 0; *(9 ;< :8 !0!@� ,�+ (.$ ,+ !"?D|G ,+ !$c
/9VW ;8'. ;<

(C) Procurement cycle time is time consumed for inspection of 
purchased components parts
/.%i Tb *(9 0; *(9 ;< :8 &?D3+ Ac MV:� ,+ !;�82 ,+ !"?D|G ,+
!$c /9VW ;8'. ;<

(D) All options are correct
*@D !0,q *;D ;S

101
09-
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2018

29

Too fast welding speed in arc welding would result in:

=,F 0+%�2A () 67' '+:D *+ 0+%�2A ,D A!' ,+ M>?G.(R�M:

(A) excessive pilling up to weld metal, poor penetration, wasted 
electrodes
B�!1, !M!$2A ', :8~"+ 0.$. 1.'V, }!I9. !"0+4, ,(�8? U$+�J 8L*

(B) excessive spatter, under cutting along edges, irregular, deposit, 
wasted electrodes
B�!1, !yL,", !,".?82 ,+ *.P ,.I"+ ,+ ';', B!"9!(', :(., 66.F3
U$+�J 8L

(C) too small bead, weak weld and wasted electrodes
67' y8I. (",., ,(:8? 0+��? 66.F3 U$+�J 8L

(D) excessive pilling up of weld metal, overlapping without 
penetration of edges, wasted electrodes
0+� 1.'V ,D B�!1, !M!$2A, !,".?82 ,+ /0+4 ,+ !6". �0?$<!M2A, 66.F3
U$+�J 8L

(C) 

101
09-
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Inert gas arc welding, which of the following is used for welding 
magnesium?

!"%�9 A<* =,F 0+%�2A (), !"#!$%&' () *+ ,-" *. 0+%�2A (<�D!49( ,+
!$c ]M98A !,9. :.'. ;<?

(A) non-combustible electrodes in combination with helium and D.C. 
current
". :$"+ 0.$+ U$+�J 8L*�?=AF" ,+ *298:" ,+ *.P ;D!$9(�? D.C. 
/0.;

(B) combustible electrodes and argon in combination with A.C. current
:$"+ 0.$+ U$+�J 8L*�?=AF" ,+ *298:" ,+ *.P A.C /0.;

(C) straight polarity D.C. current
*D1+ �V0D9'. D.C. /0.;

(D) carbon dioxide, because of its excellent penetration and high speed
,.6F" L.U=�.UL, ]*,+ ]z( /0+4 �? ]� A!' ,+ ,.?G

(A) 

101 31 (D) 
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The function of the flux in the blast furnace is/are:

A. To bring down the softening point of the gangue material
B. To reduce the viscosity of the slag
C. To decrease the activity of some components to make them stable 
or unstable in the slag phase
Of these, the correct statement(s) is/are:

!0�8I @�D () /0.; ,. ,.9F ;<:

A. =1.�D *.(CD ,+ "?( !623V ,8 "DT+ $.".
B. �<A ,D !TM!TM.M" ,8 ,( ,?"+ ,+ !$c
C. MV:� ,8 �<A T?G () %vP? 9. B%vP? 6"."+ ,+ !$c ,V y A!'!0!1 ,8
,( ,?"+ ,+ !$c
U"() *+, *;D ,P" ;<:

(A) Only A
,+ 0$ A

(B) Only B
,+ 0$ B

(C) Only C
,+ 0$ C

(D) All options are correct
*@D !0,q *;D ;S

101
09-
09-
2018
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Which of the following are intensive properties?

(1) Kinetic energy
(2) Specific enthalpy
(3) Pressure
(4) Entropy

!"#!$%&' () *+ ,-" *. /&? AVG ;S?

(1). ,.U"+!I, u:.F
(2). !0!4N c2 P<$MD
(3). 36.0
(4). c2 IJ {MD

(A) Only 1 and 3
,+ 0$ 1 �? 3

(B) Only 2 and 3
,+ 0$ 2 �? 3

(C) Only 1, 3 and 4
,+ 0$ 1, 3 �? 4

(D) Only 2 and 4
,+ 0$ 2 �? 4

(B) 

101 33 (A) 
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A uniform flow is one when

c, BM>?0'F"4D$ /0.; '6 ;< :6

(A) the flow parameters at any given instant remain same at every 
point
!,*D @D !3c Ac '�.$ M? /0.; M<?.(DI? ;? !623V M? c, ;D ?;'+ ;<

(B) the flow parameters vary uniformly throughout
/0.; M<?.(DI? ;? :A; *(." �M *+ !@� ;8'+ ;S

(C) an imaginary situation
c, ,.q!", %vP!'

(D) non-existing
A<? (-:_3.

101
09-
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The wetted perimeter for a pipe running full of water is equal to: 
Where d is the diameter of the pipe.

M."D *+ @?+ c, 6;'+ M.UM ,+ !$c AD$D M>?!1 6?.6? ;<: :;.Y d M.UM ,.
�.* ;<Q

(A) πd/2

(B) 2πd

(C) πd

(D) πd4/2

(C) 

101
09-
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The intensity of pressure in a liquid due its depth will, very with depth:

c, '?$ () 36.0 ,D 'D�'. ]*,D A;?.H ,+ ,.?G, A;?.H *+ !@� ;8AD:

(A) directly
/��9| �M *+

(B) indirectly
B/��9| �M *+

(C) directly and directly
/��9|�? B/�|�M *+

(D) None of these
U"(+ *+ ,8H ";D 2

(A) 

101 09-
09-
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36 Addition of heat at constant pressure to a gas results in

c, A<* M? A(� ,+ :8~ ,. !"?2'? 36.0 ,. M>?G.( ;8'. ;<

(A) raising its temperature
BM"+ '.M(." ,8 6�. ?;. ;<

(B) raising its pressure

Question 
Withdrawn 



BM"+ 36.0 ,8 6�. ?;. ;<

(C) raising its volume
U*,+ =9'" ,8 6�.".

(D) raising its temperature and doing external work
BM". '.M(." 6�.,? �? 6.;?D ,.( ,?".

101
09-
09-
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Three metal walls of same thickness and cross sectional area have 
thermal conductivities 2k, 4k and 6k respectively. The temperature 
drop across the walls (for same heat transfer) will be in the ratio:

*(." (8I.H �? b{* *+�"$ |+�f$ ,D 'D" 1.'V 3D0.?82 ,D '.MD9
T.$,'. b(4j 2k, 4k �? 6k ;<Q 3D0.?82 () '.M(." () ,(D (]*D u�.
;\.2'?G ,+ !$c) !,* B"VM.' () ;8AD?

(A) 3:2:1

(B) 1:1:1

(C) 1:2:3

(D) None of these
U"(+ *+ ,8H ";D 2

(D) 

101
09-
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Extensive property of a system is one whose value :

c, /G.$D ,D �.M, *2M!z c, ;< !:*,. (_n:

(A) depends on the mass of the system, like volume
M>?(.G ,D '?;, /G.$D ,+  �(." M? !"@F? ,?'. ;<

(B) does not depend on the mass of the system, like temperature, 
pressure etc.
'.M(.", 36.0 =!3 ,D '?;, /G.$D ,+  �(." M? !"@F? ";D 2,?'. ;<

(C) is not dependent on the path followed but on the state
M.$" (.AF M? !"@F? ";D 2 ;< $+!," %vP!' M? ;<

(D) is dependent on the path followed and not on the state
T$"+ 0.$+ (.AF M? !"@F? ;< �? %vP!' M? ";D 2 ;<

(A) 

101 09-
09-
2018

39 Which of the following refrigerant characteristics change constantly 
during the cooling cycle?

4D'$" Tb ,+ 3-?." !"#!$%&' () *+ ,-" *. 4D'$, !04+5'.cY
$A.'.? 63$'D ;<?

(A) pressure and phase
36.0 �? T?G

(B) temperature and pressure
'.M(." �? 36.0

(C) phase and flow

(A) 



T?G�? /0.;

(D) flow and pressure
/0.; �? 36.0

101
09-
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Ornaments are cast by:

A;"82 ,8 ¡.$. :.'. ;<:

(A) continuous casting
!"?2'? ¡$.H

(B) slush casting
*$4 ¡$.H

(C) die casting
L.H ¡$.H

(D) centrifugal casting
,)  .M*.?D ¡$.H

(B) 

101
09-
09-
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The function of a flywheel is to

¢.H£D$ ,. ,.9F ;<

(A) facilitate start of machine
(4D" ,D 4Vo=' () *V!01.

(B) smooth out power impulses
!6:$D =0+A82 ,8 *VT.� 6".".

(C) act as pulley for belt drive
6+^ LJ .U0 ,+ !$c T?&D ,+ �M () ,.9F ,?".

(D) to store energy for periods of failure of main supply
(Vr=M_!'F ,D !0f$'. ,D B0!1 ,+ !$c u:.F @2L.? ,?"+ ,+ !$c

(D) 

101
09-
09-
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After cold forming, steel balls are subjected to:

s2 L 6"."+ ,+ 6.3, dD$ A)382 ,+ B1D" ;S:

(A) normalising
*.(.k

(B) tempering
4.2' ,?".

(C) electroplating
!03¤ 9V'

(D) stress relieving
'".0 (V%W ,?".

(D) 

101 43 (C) 
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Quick return motion mechanism is typically used in which of the 
following machine? 

'V?2' 0.M*D A!' !b9.!0!1 =('-? M? !"#!$%&' () *+ !," (4D"82 ()
]M98A !,9. :.'. ;<?

(A) Open die forge
&V$D L.H f8:F

(B) Hydraulic press
;.ULJ 8!$, /+*

(C) Shaper
4+M?

(D) Lathe
$<P

101
09-
09-
2018
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Rotary compressors are suitable for

?8I?D ,¥+**F ]M9VW ;S

(A) large discharge at high pressure
]� 36.0 M? 6~. !"0F;"

(B) low discharge at high pressure
]� 36.0 M? ,( !"0F;"

(C) large discharge at low pressure
,( 36.0 M? 6~. !"0F;"

(D) low discharge at low pressure
,( 36.0 M? ,( !"0F;"

(C) 

101
09-
09-
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The typical air fuel ratio in a diesel engine under rated conditions lies 
in the range of? 

c, LD:$ U2:" () /�MD 0.9V H21" B"VM.' !"1.F>?' %vP!'982 ,+ ';'
!," *D(.982 () !"!;' ;<?

(A) 10 to 1
10 *+ 1

(B) 20 to 1
20 *+ 1

(C) 50 to 1
50 *+ 1

(D) 2 to 1
2 *+ 1

(B) 

101 09-
09-
2018

46 In four stroke cycle engines, an ample amount of ____________ is 
used during intake and exhaust processes.

(B) 



T.? dJ 8, Tb U2:"82 (), *+0" �? !",.* /!b9.�2 ,+ 3-?."
____________ ,D M9.Fi (.�. ,. ]M98A !,9. :.'. ;<Q

(A) heat
A(�

(B) pressure
36.0

(C) power
4%W

(D) None of these
U"(+ *+ ,8H ";D 2
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If a light and a heavy body have equal kinetic energy of translation, 
then

9!3 c, ;¦+ �? @.?D !",.9 () B"V0.3 ,D *(." A!'4D$ u:.F ;8'D
;<, '8

(A) lighter body will have smaller momentum
;$,+ 4?D? () ,( A!' ;8AD

(B) heavy body will have smaller momentum
@.?D 4?D? () P8~D A!' ;8AD

(C) both will have same momentum
38"82 c, ;D A!' ;8AD

(D) unpredictable
B/�.!4'

(A) 
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(A) locked chain
623 l[2&$.

(B) constrained kinematic chain
*D!(' !,"+(+!I, l[2&$.

(C) unconstrained kinematic chain
R+§.M_GF !,"+(+!I, l[2&$.

(C) 



(D) mechanism
!b9.!0!1
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(A) Double crank mechanism
38;?D bS , !b9.!0!1

(B) Double rocker mechanism
38;?D ?{,? !b9.!0!1

(C) Crank rocker mechanism
bS , ?{,? !b9.!0!1

(D) Single slider mechanism
c,$�.UL? !b9.!0!1

(C) 
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Which of the following statements is true?

!"#!$%&' () *+ ,-" *+ ,P" *� ;S?

(A) A comparator needs to be calibrated
c, 'V$!"� ,8 :.2T"+ ,D =0¨,'. ;<

(B) A comparator need not be calibrated
c, 'V$!"� ,8 :.2T"+ ,D =0¨,'. ";D 2 ;<

(C) A comparator contains a calibrated scale
c, 'V$!"� () c, ,< !$©+I+Lª+ $ ;8'. ;<

(D) A comparator is highly accurate over its complete measuring range
c, 'V$!"� BM"D M_GF (.M *D(. M? B�!1, *ID, ;<

(A) 

101 51 (A) 
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In a micrometer screw gauge, circular scale is marked on:

c, (.Ub8(DI? M)T (.M" (), A8$.,.? (.M, !T!«' !,9. A9. ;<:

(A) thimble
"8,

(B) ratchet
4.¬I

(C) stud
I+,

(D) sleeve
=\D"
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Hardness of steel depends on :

dD$ ,D ,s8?'. U* M? !"@F? ,?'D ;<:

(A) amount of cementite it contains
*D()I*.UI ,D (.�. :8 U*() 4.!($ ;<

(B) amount of carbon it contains
,.6F" ,D (.�. :8 U*() 4.!($ ;<

(C) contents of alloying elements
!(l 1.'V '­82 ,D *.(CD

(D) method of manufacture of steel
dD$ ,+ !"(.FG ,D !0!1

(B) 
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An alloy steel contains :

c, c${9 dD$ () 4.!($ ;S:

(A) more than 0.5% Mn and 0.5% Si
0.5% *+ B!1, Mn �? 0.5% Si

(B) less than 0.5% Mn and 0.5% Si
0.5% *+ ,( Mn �? 0.5% Si

(C) more than 0.35% Mn and 0.5% Si
0.35% *+ B!1, Mn �? 0.5% Si

(D) less than 0.35% Mn and 0.5% Si
0.35% c(c"�? 0.5% *D *+ ,(

(C) 
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54 Steel which destroys by burning is called :

dD$ :8 :$"+ *+ "N ;8 :.'D ;< ]*+ ,;. :.'. ;<:

(A) Alloy steel
B${9 dD$

(D) 



(B) Carbon steel
,.6F" dD$

(C) Silicon steel
!*!$,{" dD$

(D) Killed steel
!,�dD$
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Use of CIM technology offers a layout architecture where computation 
takes place 

*D=Hc( /-g8!A,D ,. ]M98A c, 34. =!,F I+®? /3." ,?'. ;< :;.2
AG". ;8'D ;<

(A) using line information
$.U" :.",.?D ,. ]M98A ,?

(B) using virtual memory
=@.*D [̄!' ,. ]M98A ,?

(C) using on line information and multi-processing
e"$.U" :.",.?D �? 67 /*2ª?G ,. ]M98A ,?

(D) None of these
U"(+ *+ ,8H ";D 2

(C) 

101
09-
09-
2018

56

Product cost implies

]°.3 $.A' ,. '.°9F ;<

(A) primary costs
/.P!(, $.A'

(B) primary cost and factory overheads
/.P!(, $.A' �? f< �J D �0?;+L¤*

(C) factory expenses
,.?&."+ ,+ &T±

(D) primary cost and factory expenses
/.P!(, $.A' �? ,.?&."+ ,+ &T±

(B) 
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3-=9.(D /!'!²' ({L$

(A) convey more or less a real situation
0.\!0, %vP!' ,8 ,( 9. E.3. �W,?".

(B) can easily check the overhead structures
=*."D *+ �0?;+L *2?T".�2 ,D :.2T ,? *,'. ;S

(C) can easily explain the layout to management
=*."D *+ /621" ,8 $+=]I *(�. *,'. ;S

(D) 



(D) All options are correct
*@D !0,q *;D ;S
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It is known that ‘H’ is the head of water under which the turbine is 
working. The power developed by a turbine is

9; (.$_( ;< !, 'H' M."D ,. /(V& ;< !:*,+ ';' I?6.U" ,.( ,? ?;D
;<Q c, I?6.U" h.?. !0,!*' 4%W ;<

(A) Directly proportional to H1/2

H1/2 ,+ !$c *D1+ ="VM.!',

(B) Inversely proportional to H1/2

H1/2 ,+ !$c !0M?D'': ="VM.!',

(C) Directly proportional to H3/2

H3/2 ,+ !$c *D1+ ="VM.!',

(D) Inversely proportional to H3/2

H3/2 ,+ !$c !0M?D'': ="VM.!',

(C) 
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In a centrifugal pump, the liquid enters the pump

c, ,+ ³.M*.?, M2M (), '?$ M2M () /0+4 ,?'. ;<

(A) at the centre
,)   ()

(B) at the top
4D5F M?

(C) at the bottom
'$ M?

(D) None of these
U"() *+ ,8H ";D 2

(A) 
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High specific speed of turbine implies that it is :

I?6.U" ,D ]� !0!4N A!' ,. '.°9F 9; ;< !,:

(A) propeller turbine
/8M+$? I?6.U"

(B) Francis turbine
´.2!** I?6.U"

(C) Impulse turbine
U2Mµ I?6.U"

(D) Francis turbine or impulse turbine
´.2!** I?6.U" 9. U¶µ I?6.U"

(A) 
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61 The presence of reflector in nuclear power plants results in:

M?(.GV u:.F ,.?&."82 () M?.0'F, ,D ]M%vP!' ,+ M>?G.( *+:

(A) increased production of neutrons
k_IJ {"* ,+ ]°.3" () 0[%· 7H

(B) complete absorption of neutrons
k_IJ {"* ,. M_?. B0485G

(C) controlled production of neutrons
k_IJ {"* ,. !"92!�' ]°.3"

(D) decreased leakage of neutrons
k_IJ {"* ,+ >?*.0 () ,(D

(D) 
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The fuel needed, with reflector in nuclear power plant, in order to 
generate sufficient neutrons to sustain a chain reaction, would be:

c, M?(.GV u:.F ,.?&."+ () M?.0'F, ,+ *.P, l[2&$. /!'!b9. ,8 6".c
?&"+ ,+ !$c M9.Fi k_IJ {" ]°� ,?"+ ,+ !$c , H21" ,D :�?', 9;
;8AD:

(A) more
B!1,

(B) less
,(

(C) same
6?.6?

(D) zero
4_k

(B) 
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A diesel power plant is best suited as:

c, LD:$ M.0? ¸.2I *6*+ ]M9VW ;< :<*+:

(A) base load plant
6+* $8L ¸.2I

(B) stand by plant
dSL6.9 ¸.2I

(C) general purpose plant
*.(.k ]¹+¨¸.2I

(D) None of these
U"(+ *+ ,8H ";D 2

(B) 
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64 A thermal power station was designed to burn coal containing 12% 
ash. When the plant actually started operating, coal having 22% ash 
was made available. Which unit of the plant will need major 
modifications?

(C) 



c, P(F$ M.0? d+4" ,8 12% ?.& 9VW ,89$+ ,8 :$."+ ,+ !$c
�M.2!,' !,9. A9. P.Q :6 ,.?&.". 0.\0 () ,.( ,?"+ ,+ !$c 4V�
,? !39. A9., '6 22% ?.& 9VW ,89$. ]M$º ,?.9. A9.Q ,.?&."+
,D ,-" *D U,.H ,8 6~+ 63$.0 ,D =0¨,'. ;8AD?

(A) Water treatment plant
:$ ]MT.? ¸.2I

(B) Pulverising unit
MV»?.U!:2A U,.H

(C) Ash handling unit
?.& *2@.$"+ 0.$D U,.H

(D) Cooling towers
:$ 4D'$, (D".?
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The probability distribution taken to represent the completion time in 
PERT analysis is:

MBIF !0¼+5G () *(.M" *(9 ,. /!'!"!1­ ,?"+ ,+ !$c !$9. A9.
*2@.�'. !0'?G ;<:

(A) Gamma distribution
A.(. !0'?G

(B) Normal distribution
*.(.k !0'?G

(C) Beta distribution
6DI. !0'?G

(D) Log-normal distribution
${A-*.(.k !0'?G

(C) 
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66 Which of the following statements is true?

A. Efficiency of screw depends upon lead of the screw.
B. Efficiency of the screw depends upon helix angle but does not 
depend on friction angle.

!"#!$%&' () *+ ,-" *. ,P" *� ;<?

A. ½_ ,D |('.½_ ,+ BC@.A M? !"@F? ,?'D ;<Q
B. ½_ ,D |('. ;+!$�,8G M? !"@F? ,?'D ;< $+!," }5FG ,8G M?
!"@F? ";D 2,?'D ;<Q

(A) Only A
!*fF A

(B) Only B
!*fF B

(C) Both A and B

(A) 



A �? B 38"82

(D) None of these
U"(+ *+ ,8H ";D 2
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Which of the following statements is true?

A. Efficiency of the screw decreases with increase of coefficient of 
friction
B. Clutch and coupling can be considered to be same.

!"#!$%&' () *+ ,-" *. ,P" *� ;<?

A. }5FG AVG.2, ,D 0[%· ,+ *.P½_ ,D |('. ,( ;8 :.'D ;<Q
B. ¾T�? ,M!$2A ,8 *(." (.". :. *,'. ;<Q

(A) Only A
!*fF A

(B) Only B
!*fF B

(C) Both A and B
A �? B 38"82

(D) None of these
U"(+ *+ ,8H ";D 2

(A) 
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Height of the centre measured from the bed of the lathe as compared to 
swing diameter over the bed is

&?.3 ,+ !6\? *+ (.MD AH ,)   ,D u2 T.H %R2A �.* ,D 'V$". (), !6\?
M? ;<

(A) half
=1.

(B) double
38AV".

(C) same
6?.6?

(D) four times
T.? AV".

(A) 
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69 In a locomotive, the maximum magnitude of the unbalanced force 
along the perpendicular to the line of stroke, is known as 

c, $8,8(8!I0 (), dJ 8, ,D ?+&. ,+ $260' ,+ *.P B*2'V!$' 6$ ,D
B!1,'( M>?(.G, ,8 :.". :.'. ;<

(A) tractive force
IJ < %�0 6$

(C) 



(B) swaying couple
R+!92A ,¿$

(C) hammer blow
;<(? À8

(D) None of these
U"(+ *+ ,8H ";D 2
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A shock wave which occurs in a supersonic flow represents a region in 
which

c, *VM?,8!", /0.; () c, 3;4' ,D $;? ;8'D ;< c, Á*+ |+� ,.
/!'!"!1­ ,?'D ;< !:*()

(A) a zone of silence exists
(-" ,. c, |+� (-:_3 ;<

(B) there is no change in pressure, temperature and density
36.0, '.M(." �? }"­ () ,8H 63$.0 ";D 2 ;<

(C) there is sudden change in pressure, temperature and density
36.0, '.M(." �? }"­ () BT.", M>?0'F" ;8'. ;<

(D) velocity is zero.
0+A 4_k ;<

(C) 
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In Indian Constitution, which of the following article guarantee Right 
to Education?

!"#$%& '()*+", -., ),/)012$ -. '3 45, '" 6,783 9 ):;" 43 6)+4"#
4% <"#(=% 93$" >??

(A) Article 14
6,783 9 14

(B) Article 15
6,783 9 15

(C) Article 16
6,783 9 16

(D) Article 21A
6,783 9 21A

(D) 
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In August 2018, which of the following country have signed second 
protocol amending Comprehensive Economic Cooperation 
Agreement with India?

6<@ 2018 -., ),/)012$ -. '3 )4' 93: ,3 !"#$ 43 '"A B"C4
D)AE4 '>&F< '-G5$3 -. '(:F+, 4#,3 *"03 9H '#3 IF=F4J0 C# >@";#
)4&3 >K?

(A) Singapore
)'(<"C7#

(B) Japan
L"C",

(C) Indonesia
M(NF,3):&"

(D) Germany
L-E,%

(A) 
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143 Which of the following acid is found in banana?

43 03 -. ),/)012$ -. '3 45, '" 6O C"&" L"$" >??

(A) Citric acid
)')=P4 6O

(B) Acetic acid
Q'%)=4 6O

(A) & 
(B) & 
(D) 



(C) Oxalic acid
RS3)04 6O

(D) Malic acid
-3)04 6O
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According to NABARD, All India Rural Financial Inclusion Survey 
2016-17, how much of rural income is generated by agriculture?

,"T"NE 6120 !"#$%& U"-%V )*W%& '-"*3:, '*X;V 2016-17 43
6,7'"#, )4$,% U"-%V D& 4Y )Z ["#" \]")9$ 4% L"$% >??

(A) 23%

(B) 40%

(C) 57%

(D) 63%

(A) 
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Which among the following ministry has launched Swach 
Survekshan Gramin 2018?

),/)012$ -. '3 )4' -(^"0& ["#" _8 '*X;V U"-%V 2018 4"
0F4"CEV )4&" <&" >??

(A) Ministry of Agriculture and Farmar's Welfare
4Y )Z $A" )4'", 4`"V -(^"0&

(B) Ministry of Drinking Water and Sanitation
C3& L0 $A" _8$" -(^"0&

(C) Ministry of Rural Development
U"-%V )*4"' -(^"0&

(D) Ministry of Earth Science
CYa% )*b", -(^"0&

(B) 
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146 In the following question, out of the four alternatives, select the 
alternative which best expresses the meaning of the idiom/phrase.

Birds of a feather flock together

(A) There is strength in numbers, a team can achieve what an 
individual can't.

(B) people of the same sort or with the same tastes and interests will 
be found together

(C) Even if they try people cannot change their tastes or interests

(B) 



(D) People will flock together when they see an opportunity
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In the following question, out of the four alternatives, select the 
alternative which is the best substitute of the phrase

Not able to be changed or reformed

(A) Redeemable

(B) Cavalier

(C) Incorrigible

(D) Haughty

(C) 
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In the following question, a sentence has been given in 
Direct/Indirect speech. Out of the four alternatives suggested, select 
the one which best expresses the same sentence in Indirect/Direct 
speech.

She said, "Mother, this dress looks beautiful."

(A) She said to her mother that, this dress looked beautiful.

(B) She said to her mother that, that dress looked beautiful.

(C) She said to her mother that, that dress looks beautiful.

(D) She said to her mother that, this dress looks beautiful.

(B) 
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The question below consists of a set of labelled sentences. Out of the 
four options given, select the most logical order of the sentences to 
form a coherent paragraph.

According to the steady-heating

A-in turn have a specific density

B-model, the coronal loop of a given

C-length and temperature should

(A) ACB

(B) BCA

(C) CAB

(D) CBA

(B) 
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150 Answer the given question based of the following passage.

My favorite part of Saturday is walking through the city. Sometimes I 
close my eyes and let Daddy’s hand guide me. When my eyes are 
closed, I can hear things I don’t usually notice. I can always hear the 
cars honking and the people shouting. But when my eyes are closed, I 
notice how the pigeons talk to each other while they sit on the 

(A) 



benches. I notice how the bell on Wilson’s Grocery door sounds 
different than the bell at the hardware store.

What does the writer notice only if she closes her eyes?

(A) The talking of the pigeons

(B) The honking of the cars

(C) The shouting of the people

(D) The holding of daddy's hand
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Raman sold a car to Rajat at a loss of 14.28%. Rajat sold it to Vinit at 
a profit of 66.66%. If Rajat purchased the car at Rs 1400, then at what 
price (in Rs) Raman bought that car?

#-, ,3 #L$ 4F Q4 <"c% 14.28% 4% >"), C# T3d%e #L$ ,3 )*,%$ 4F
66.66% 43 0"! C# T3d%e &)9 #L$ ,3 <"c% 1400 f -. 2#%9%, $F #-, ,3
*> <"c% )4$,3 -H` (f -.) C# 2#%9%?

(A) 1120

(B) 980

(C) 1633.33

(D) 1167.67

(C) 
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L, M and P can do a certain piece of work in 15, 20 and 40 days 
respectively. They started the work together. M left the work after 4 
days of starting and P left the work before 3 days of completion. In 
how many days the work will be completed?

L, M $A" P Q4 4"&E 4F g-:h 15, 20 $A" 40 )9, -. 4# '4$3 >Ke
\iF,. 4"&E '"A -. I"#(! )4&"e M, 4"&E :7j >F,3 43 4 )9, Ck"$ 4"&E
lFc4# d0" <&" $A" P, 4"&E CHVE >F,3 43 3 )9, CH*E 4"&E lFc4# d0"
<&"e 4"&E )4$,3 )9, -. CHVE >F L"Q<"?

(A) 9(6/11)

(B) 9(9/11)

(C) 10(5/11)

(D) 9(8/11)

(A) 
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153 (B) 



(A) 18

(B) 9

(C) 12

(D) 24
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If tan θ = 7/12, then what will be the value of [(sin θ + cos θ)/(3 sin θ 
+ 4 cos θ)]?

&)9 tan θ = 7/12, $F [(sin θ + cos θ)/(3 sin θ + 4 cos θ)] 4" -",m"
>F<"?

(A) 17/69

(B) 19/69

(C) 17/36

(D) 17/67

(B) 
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**** CASE QN ****

Total production of company B in year 2014 and 2016 together is 
what percentage of the total production of company C in year 2016?

*ZE 2014 $A" 2016 -. )-0"4# 4( C,% B 4" 47 0 \]"9,, *ZE 2016 -.
4( C,% C 43 47 0 \]"9, 4" )4$," I)$:$ >??

(A) 160

(B) 200

(C) 150

(D) 250
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156 In the following question, select the related number from the given 
alternatives.

23 : 60 : : 47 : ?

),/)012$ In -. )9Q <Q )*4oF( -. '3 '(T()+$ '(p" 4F d7),Qe

23 : 60 : : 47 : ?

(A) 74

(B) 54

(C) 64

(D) 



(D) 84
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Rajat started walking from point P. He walked 14 km towards north 
and reached point Q. He then turned right and walked 37 km to reach 
point R. He turned left and walked 24 km to reach point S. He finally 
turned right and walked 18 km to reach point T. What is the straight 
line distance (in km) between point T and point R?

#L$ ,3 )Tq97 P '3 d0," I"#(! )4&"e *> 14 )4.-%. \W# 4% r# d0"
$A" )Tq97 Q C# Cstd <&"e *> )u# 9"&% (r# -7c" $A" 37 )4.-%. d04#
)Tq97 R C# Cstd <&"e *> T"&% (r# -7c" $A" 24 )4.-%. d04# )Tq97 S 
C# Cstd <&"e *> 6($$h 9"&% (r# -7c" $A" 18 )4.-%. d04# )Tq97 T 
C# Cstd <&"e )Tq97 T $A" )Tq97 R 43 -v '%+% #32" 9H #% ()4.-%. -.) 
)4$,% >??

(A) √5165

(B) 30

(C) 28

(D) √890

(B) 
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(A) 

(B) 

(C) 

(B) 



(D) 
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In the following question, select the missing number from the given 
series.

39, 41, 43, 47, 47, 53, 51, ?

),/)012$ In -. )9Q <Q )*4oF( -. '3 07w 6(4 b"$ 4%)LQe

39, 41, 43, 47, 47, 53, 51, ?

(A) 59

(B) 55

(C) 69

(D) 65

(A) 
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Select the correct set of mathematical operations to correct the given 
equation.

38 ? 12 ? 114 ? 4 ? 53 = –45

)9Q <Q '-%4#V 4F '>% 4#,3 43 )0Q <)V$%& '()g&"r( 43 '>% '-H>
4F d7),Qe

38 ? 12 ? 114 ? 4 ? 53 = –45

(A) –, ÷, + ×

(B) ×, ÷, –, +

(C) ÷, –, + ×

(D) ×, ÷, +, –

(D) 
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161 Forces which meet at one point but their lines of action do not lie in 
one plane are called

*> T0 LF Q4 )T(97 C# )-0$3 $F >K, 03)4, \,4% )g&" #32"Q( Q4 '$>
C# ,>% ( >F$% >?, \i. 4>" L"$" >?

(A) coplanar concurrent forces

(C) 



'-$0%& '-*$x T0

(B) coplanar noncurrent forces
'-$0%& 6Id)0$ T0

(C) non-coplanar concurrent forces
<?#-'-$0%& '-*$x T0

(D) non-coplanar non concurrent forces
<?#-'-$0%& <?# '-*$x T0
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The centre of percussions is

=4#"* 4" 4. y >?

(A) same as centre of gravity
U3)*=% 43 4. y 43 '-", >%

(B) point in a body about which it can rotate horizontally and 
oscillates under the influence of gravity 
Q4 ),4"& -. )T(97 )L'43 T"#3 -. &> <7fz"4ZEV 43 I!"* -. ;?)$L {H-
'4$" >? |# )>0$" >?

(C) point of application of the resultant of all the forces tending to 
cause a body to rotate about a central axis
'!% T0F( 43 C}#V"-_jCD*39, 4" )T(97 Q4 ),4"& 43 4. y%&
6;#32" -. {H-,3 43 )0Q 4"#V T,$" >?

(D) point of application forces of the body
:#%# 43 I&F< T0F( 4" )T(97

(C) 
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The limiting force of friction is

{ZEV 4% '%)-$ :1~ >?

(A) the value of friction which stops the motion of the body
{ZEV 4" ->z LF :#%# 4% <)$ 4F #F4$" >?

(B) the value of friction that cannot exceed under a situation
{ZEV 4" ->z LF )4'% 1�A)$ 43 $>$ 6)+4 ,>% ( >F '4$" >?

(C) the frictional force acting when the body is just to move
4"&E4"#% {ZEV T0 LT 4F� ),4"& T' �A","($}#$ 4#,3 43 )0Q >?

(D) None of these
M,-3 '3 4F� ,>% (

(C) 
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164 A metal pipe of 1 m diameter contains a fluid having a pressure of 10 
kgf/cm2. If permissible tensile stress in the metal is 200 kgf/cm2, then 
thickness of the metal required for making the pipe will be

1 -%=# B"' 4% +"$7 C"MC -. $#0 C9"AE >? )L'-. 10 kgf/cm2 4" 9T"*
>?e &)9 +"$7 -. 6,7-$ $�$" $,"* 200 kgf/cm2 >?, $F C"MC T,",3 43

(D) 



)0Q D*�4 +"$7 4% -F="� >F<%

(A) 5 mm
5 )--%

(B) 10 mm
10 )--%

(C) 20 mm
20 )--%

(D) 25 mm
25 )--%
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Buckling load will be maximum for a column, if

Q4 4J0- 43 )0Q T4)0(< !"# 6)+4$- >F<", 6<#

(A) one end of the column is clamped and the other end is free
4J0- 4" Q4 )'#" 9T" sD >? |# 9H '#" )'#" -7~ >?

(B) both ends of the column are clamped
4J0- 43 9F,F( )'#3 9T3 sQ >?

(C) both ends of the column are hinged
4J0- 43 9F,F( )'#3 4�3 '3 6=43 sQ >?

(D) one end of the column is hinged and the other end is free
4J0- 4" Q4 )'#" 4�3 '3 6=4" sD >? |# 9H '#" )'#" -7~ >?

(B) 
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The buckling load in a steel column is

�%0 4J0- -. T4)0(< 0FN

(A) related to the length
0(T"� '3 '(T()+$ >?

(B) directly proportional to the slenderness ratio
'#(d," 6,7C"$ 43 '%+3 6,7jC

(C) inversely proportional to the slenderness ratio
'#(d," 6,7C"$ 43 )*C#%$h 6,7jC

(D) none of these
M,-3 '3 4F� ,>% (

(A) 
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167 Radius of curvature of a stressed beam and modulus of elasticity:

Q4 $,"*U@ T%- |# 0Fd 43 -"C"(4 43 =3�3C, 4" #3 )N&':

(A) are directly proportional
'%+3 D,7C")$4 >K

(D) 



(B) are inversely proportional
)*C#%$h D,7C")$4 >K

(C) are curvilinearly related
*g"�4$" '3 '(T()+$ >K

(D) have unpredictable relationship
6I�"):$ '(T(+ >?
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Which of the following is the correct sequence of operations in 
production planning and control?

\]"9, &FL," |# ),&(^V -. ),/)012$ -. '3 45, '" '(d"0, 4" '>%
6,7g- >??

(A) Routing-Scheduling-Dispatching-Follow up
j)=(<-:3�H)0(<-)N�?)d(<-uJ0F 6C

(B) Scheduling-Routing- Dispatching-Follow up
:3�H)0(<-j)=(<-)N�?)d(<-uJ0F 6C

(C) Dispatching-Routing-Scheduling- Follow up
)N�?)d(<-j)=(<-:3�H)0(<-uJ0F 6C

(D) Routing-Scheduling-Follow up-Dispatching
j)=(<-:3�H)0(<-uJ0F 6C-)N�?)d(<

(A) 
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In reverse polarity welding:

\0=% CF0?}#=% *31�(< -.:

(A) work is positive and holder is earthed
4"- '4"#"�4 >? |# +"#4 !H'�)4E $ >?

(B) holder is positive and work is earthed
+"#4 '4"#"�4 >? |# 4"- !H'�)4E $ >?

(C) work is negative and holder is earthed
4"- ,4"#"�4 >? |# +"#4 !H'�)4E $ >?

(D) electrode holder is connected to the positive and work to the 
negative 
M03�P FN +"#4 '4"#"�4 '3 L7c" sD >? |# ,4"#"�4 C# 4"-
4#$" >?

(D) 
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170 The brown flame during the operation of the Bessemer converter 
signifies:

T3'3-# 4,*=E# 43 '(d"0, 43 95#", !H#" 05 &> '(43 $ 4#$% >?:

(A) that silicon has burned out and carbon has started burning
)4 )')04J, L0" )9&" <&" >? |# 4"TE, L0,3 0<" >?

(B) 



(B) that air is burning out the silicon and manganese resulting in high 
increase in temperature and scrap steel needs to be added to control 
the temperature
)4 *> >*" )')04J, 4F L0" #>% >? |# -K<,%L 43 C}#V"-_jC
$"C-", -. \� *Y1� s� |# $"C-", 4F ),&()^$ 4#,3 43 )0Q�? C
�%0 -. '(4)0$ )4&" L"," d")>Q

(C) that carbon has burned out and silicon has started burning
)4 4"TE, L0" )9&" <&" >? |# )')04J, L0," :7j >F <&" >?

(D) None of these
M,-3 '3 4F� ,>% (
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In braze welding, which of the following is true with respect to the 
filler metal?

A. It is distributed by capillary attraction
B. It is melted and deposited at the point where the weld is to be 
made
C. It is not required at all

�3� *31�(< -., ),/)012$ -. '3 45, '" !#,3 *"03 +"$7 43 '(T(+ -. 'd >??

A. &> 43 ):4" D4ZEV ["#" )*$}#$ )4&" L"$" >?
B. &> )C{0"&" |# \' )T(97 C# L-" )4&" L"$" >? L>"( LFc T,"&"
L"," >?
C. &> )T�7 0D*�4 ,>% ( >?

(A) only A
43 *0 A

(B) only B
43 *0 B

(C) both A and B
A |# B 9F,F(

(D) only C
43 *0 C

(B) 
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172 In a closed system

Q4 T(9 )'�- -.

(A) energy transfers from surrounding to system
D'C"' '3 �L"E �A","($#V >F$% >? )'�- -.

(B) energy transfers from system to surrounding
)'�- '3 �L"E D'C"' -. �A","($#V >F$% >?

(C) energy transfers from system to surrounding and vice-versa
)'�- '3 �L"E D'C"' -. �A","($#V >F$% >? |# M'43 )*C#%$ !%

(C) 



(D) None of these
M,-3 '3 4F� ,>% (
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The Ratio of inertia force to elastic force is known as

0Fd9"# T0 43 )0Q 6)g&$" T0 4" 6,7C"$ &> L"," L"$" >?

(A) Weber Number
*3T# '(p"

(B) Reynold’s Number
#3,J� 4% '(p"

(C) Mach Number
-?d '(p"

(D) Froude Number
�"\N '(p"

(C) 
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For a fluid flow according to boundary layer concepts, separation 
occurs when the 

'%-" C#$ 6*+"#V"r( 43 6,7'"# $#0 I*"> 43 )0Q, 60<"* $T >F$"
>? LT

(A) pressure falls to zero.
9T"* :H� >F L"$" >?

(B) pressure rise is sudden and rapid
9T"* *Y1� 6d",4|# $3� >?

(C) different boundary layers come across a sharp turn or bend
60<-60< '%-" C#$. $%� -Fc &" -Fc -. D<3 4F D$% >K

(D) boundary layers of the fluid becomes stationary
$#0 C9"AE 4% '%-" C#$ 1�A# >F L"$% >?

(D) 
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175 A submerged body will be in stable equilibrium if the centre of 
gravity is

Q4 NH T3 sD ),4"& 1�A# '($70, -. >F<", 6<# U3)*=% 4" 4. y

(A) below the centre of buoyancy
\l"0 43 4. y 43 ,%d3

(B) above the centre of buoyancy
\l"0 43 4. y 43 �C#

(C) coinciding with the centre of buoyancy
\l"0 43 4. y 43 '"A )-0$"-L70$"

(D) None of these
M,-3 '3 4F� !% ,>% (

(A) 
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Entropy change depends on

Q( =P JC% C}#*$E, ),!E# 4#$" >?

(A) heat transfer
<-x 4" >@"($#V

(B) mass transfer
B"C4 4" >@"($#V

(C) change of temperature
$"C-", -. C}#*$E,

(D) thermodynamic state
A-�N"&,")-4 1�A)$

(A) 
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Work is considered to be a superior form of energy as compared to 
heat energy because

<-x �L"E 4% $70," -. 4"&E �L"E 4" Q4 T3>$# jC -"," L"$" >? mH()4

(A) work is direct energy 
4"- I�;�L"E >?

(B) work is useful form of energy
4"- �L"E 4" Q4 \C&F<% jC >?

(C) while work can be fully converted into heat, heat cannot be fully 
converted into work
4"- 4#$3 sQ CH#% $#> '3 $"C -. C}#*)$E$ )4&" L" '4$" >?, $"C 4F
CH#% $#> '3 4"- -. C}#*)$E$ ,>% ( )4&" L" '4$" >?

(D) it is often required to convert heat into work and not vice versa
6�# $"C 4F 4"- -. T90,3 43 )0Q M'4% D*�4$" >F$% >? |#
M'43 )*C#%$ ,>% (

(C) 
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The viscosity of a gas

Q4 <?' 4% )dC)dC">=

(A) decreases with increase in temperature
$"C-", -. *Y1� 43 '"A {=$" >?

(B) increases with increase in temperature
$"C-", -. *Y1� 43 '"A T�$" >?

(C) is independent of temperature
$"C-", '3 _$(^ >?

(D) is independent of pressure for very high pressure intensities
Ts$ 6)+4 9T"* $%�$" 43 )0Q 9T"* '3 _$(^ >?

(B) 
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179 The vapour compression refrigerator employs which of the following 
cycles?

*"� '(C%)N$ #3 )�L#3=# ),/)012$ dgF( -. '3 45, '" 4"&E 4#$" >??

(A) Rankine
#K )4,

(B) Carnot
4",�=

(C) Reversed Rankine
\0=" #K40"M,

(D) Reversed Carnot
\0= 4","E=

(D) 
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The operation of finishing a drilled hole to its right size is known as: 

Q4 )NP 0 )4Q <Q l3 9 4F 6C,3 '>% D4"# -. CH#" 4#,3 43 RC#3:, 4F
L"," L"$" >?:

(A) Reaming
#%6)-(<

(B) Counter boring
4"\(=# TF}#(<

(C) Boring
TF}#(<

(D) Tapping
9F>,

(A) 
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181 The mould for casting ferrous material in continuous casting process 
is made of:

A. Low carbon steel
B. Medium carbon steel
C. High carbon steel
D. Copper

),#($# 4"1�(< I)g&" -. 05> '"-U% 4"1�(< 43 )0Q -F� T," >F$" >?:

A. 4- 4"TE, �%0
B. -v- 4"TE, �%0
C. \�4"TE, �%0
D.4JC#

(A) only A
43 *0 A

(B) only B
43 *0 B

(C) 



(C) only D
43 *0 D

(D) None of A, B, C and D
A,B,C |# D -. '3 4F� ,>% (
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The best all-round coolant for carbide tools is:

4"T"EMN \C4#V 43 )0Q 'T'3 68" Ts--72% :%$04 >?:

(A) soluble oil in plant
C5+3 -. {70,:%0 $30

(B) kerosene
)-==% 4" $30

(C) turpentine oil
$"#C%, 4" $30

(D) compressed air
'(C%)c$ >*"

(A) 
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Which of the following is a typical disadvantage of a roller contact 
bearing?

),/)012$ -. '3 45, '" #F0# '(C4E 6'# 4" Q4 IjC% ,74'", >??

(A) High initial cost
\� I"#( )!4 0"<$

(B) More liable to shock loads 
G=43 43 !"# 43 )0Q 6)+4 \W#9"&%

(C) High precision
\� :7�$"

(D) Requires high lubrication
\� �3>, 4% D*�4$" >?

(B) 
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184 A two stroke IC engine has a stroke length of 120 mm and cylinder 
diameter 80 mm. Its mean effective pressure is 4 × 105 N/m2 and the 
crankshaft speed is 1500 r.p.m. What is its indicated power (in kW)?

Q4 9F �P F4D�'% M(L, -. �P F4 0(T"� 120 )--% |# )'0.N# B"' 80 
)--% >?e \'4" -v I!"*% 9T"* 4× 10 Q,/Q- 2 >? |# gK 4:"�4%
<)$ 1500 D#.C%.Q- >?e M'4% ),)9E� :1~m" >? (43 N�H -.)?

(A) 1.92

(B) 24.12

(C) 60.3

(D) 



(D) None of these
M,-3 '3 4F� ,>% (
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In an IC engine, the connecting rod connects which of the following 
pair of parts?

Q4D�'% M(L, -., 4,31�(< #JN ),/)012$ !"<F( -. '3 45, '3 LFcF(
4F LFc$" >??

(A) Piston and crankshaft 
)C�,|# gK 4:"�

(B) Cylinder and crankshaft 
)'0.N# |# gK 4:"�

(C) Cylinder and piston 
)'0.N# |# )C�,

(D) None of these
M,-3 '3 4F� ,>% (

(A) 
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During starting of the engine, the journal bearings operate in 
____________ friction.

M(L, 4% :7fD$ 43 95#",, L,E0 T%&}#(< ____________ {ZEV -. 4"-
4#$% >?e

(A) rolling
#F)0(<

(B) hydrodynamic friction
>"MNP FN"&,3)-4 {ZEV

(C) partial-film
D():4-)u�

(D) None of these
M,-3 '3 4F� ,>% (

(C) 
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187 Which of the following types of air compressors is being used in gas 
turbine?

<?' =#T"M, -. ),/ -. '3 )4' I4"# 43 Q&# 4�3'# 4" \C&F< )4&"
L" #>" >??

(A) centrifugal type
43 �"C'"#4 I4"#

(B) reciprocating type
C"#�}#4 I4"#

(C) lobe type

(D) 



0FT I4"#

(D) axial flow type
6;%& I*"> I4"#
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(A) structure
'(#d,"

(B) mechanism with one degree of freedom
_$(^$" 4% Q4 )NU% 43 '"A )g&")*)+

(C) mechanism with two degree of freedom
9F )NU% _$(^$" 43 '"A )g&")*)+

(D) mechanism with more than two degrees of freedom
9F )NU% '3 6)+4_$(^$" 43 '"A )g&")*)+

(B) 
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(A) 3

(B) 4

(C) 2

(D) 1

(C) 
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What is a rotameter used to measure? 

#F="-%=# m" -"C,3 43 )0Q M@3-"0 )4&" L"$" >??

(A) potential energy stored in a spring 
Q4 1 (< -. '(U>%$ '(!")*$ �L"E

(B) rotational speed of a shaft on a workshop machine
Q4 4"&E:"0" -:%, C# Q4 :"�4% {HVE, <)$

(C) amount of torque applied 
0"<H =F¡ 4% -"^"

(D) flow rate of liquids or gases in a closed tube
Q4 T(9 ¢HT -. $#0 C9"AE &" <?'F( 4" I*"> 9#

(D) 
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A sine bar is a tool used to measure:

Q4 '"M, T"# -"C,3 43 )0Q \C&F< )4&" L",3 *"0" Q4 \C4#V >?:

(A) length
0£"�

(B) thickness
-F="�

(C) inner diameter
!%$#% B"'

(D) angles
4FVF(

(D) 
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Steel which contains elements for the purpose of modifying the 
mechanical properties of plain carbon steels is called :

�%0 )L'-. '"93 4"TE, �%¤ 43 &"()^4 <7VF( 4F jC"($}#$ 4#,3 43
\¥3� '3 $z :")-0 >K, 4F 4>" L"$" >?:

(A) Alloy steel
60J& �%0

(B) Invar
M¦"#

(C) Stainless steel
�3,03' �%0

(D) High speed steel
$%�<)$ �%0

(A) 

102 193 Alloy steel containing 36% nickel is called : (A) 
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36% ),§3 0 &7~ Q0J& �%0 4F 4>" L"$" >?

(A) Invar
M¦"#

(B) Stainless steel
�3,03' �%0

(C) High speed steel
$%�<)$ �%0

(D) None of these
M,-3 '3 4F� ,>% (
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Which of the following has excellent resistance to acids?

),/)012$ -. '3 )4' -. Q)'N 43 )0Q \W- I)$#F+ >??

(A) Permalloy
C-EQ0"&

(B) Constantan
4F ?̈,=3,

(C) Hastelloy
>?�Q©J&

(D) Monel metal
-FV0 +"$7

(C) 
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Depreciation of machines is categorised under the head of

-:%,F( 43 )*-H`, 4F )4' I-72 43 ,%d3 *<x4Y $ )4&" <&" >?

(A) direct expenses
I�; 2dE

(B) indirect expenses
6I�; 2dE

(C) receipts
I"1w&F(

(D) administrative expenses
I:"'),4 2dE

(B) 
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196 In a capital intensive production system, the dominant position is 
occupied by

Q4 CH(L% I2# \]"9, IV"0% -., I-72 1�A)$ C# 4ª" )4&" L"$" >?

(A) replacement policy 
I)$�A"C, ,%)$

(A) 



(B) labour policy
«- ,%)$

(C) capital investment policy
CH(L%<$ ),*3: ,%)$

(D) material procurement policy
!5)$4 2#%9 ,%)$
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The purpose of micro-motion study is to

-"MgF--F:, 6v&, 4" \¥3� >?

(A) assist in finding out the most efficient way of doing work
4"- 4#,3 4" 'T'3 I!"*% $#%4" 2FL,3 -. '>"&$" 4#,"

(B) train the individual operator regarding the motion economy 
principle
<)$ 6AEB*�A" )'�"($ 43 '(T(+ -. B1~<$RC#3=# 4F I):);$ 4#,"

(C) help in collecting the motion time data for synthetic time 
standards
4Y )^- '-& -",4F( 43 )0Q <)$ '-& N3=" Q4^ 4#,3 -. -99 4#,"

(D) All options are correct
'!% )*4o '>% >K

(D) 
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Which of the following are typical characteristics of a Pelton wheel?

),/)012$ -. '3 45, '3 C30=, ¬%0 4% )*):� )*:3Z$"Q( >K?

(A) Works under a low head and requires large quantity of water. 
Q4 4- I-72 43 ,%d3 4"- 4#$" >? |# Tc% -"^" -. C",% 4%
D*�4$" >F$% >?e

(B) Works under a low head and requires small quantity of water.
Q4 4- I-72 43 ,%d3 4"- 4#$" >? |# C",% 4% AFc% -"^" 4%
D*�4$" >F$% >?e

(C) Works under a high head and requires large quantity of water.
Q4 \� I-72 43 ,%d3 4"- 4#$" >? |# C",% 4% Tc% -"^" 4%
D*�4$" >F$% >?e

(D) Works under a high head and requires small quantity of water.
Q4 \� I-72 43 ,%d3 4"- 4#$" >? |# C",% 4% AFc% -"^" 4%
D*�4$" >F$% >?e

(D) 
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199 In a centrifugal pump, the flow enters the chamber along the axis of 
the chamber and is discharged: 

Q4 4. y"C'"#% C(C -., I*"> 4; 43 +7#% 43 '"A 4; -. I*3: 4#$" >?
|# lFc" L"$" >?:

(A) 



(A) radially
)^­"$

(B) axially
6;%& jC '3

(C) at a certain angle
Q4 ),)k$ 4FV C#

(D) None of these
M,-3 '3 4F� ,>% (
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Hydraulic press is a device used

>"MNP F)04 I3' Q4 \C4#V >? )L'4" M@3-"0 )4&" L"$" >?

(A) To store pressure energy, which may be applied to any machine 
later on
9T"* �L"E 4F L-" 4#,3 43 )0Q, )L'3 T"9 -. )4'% !% -:%, C# 0"<H
)4&" L" '4$" >?

(B) To increase the intensity of pressure of water by measure of 
energy available from a large quantity of water at a low pressure
4- 9T"* C# C",% 4% Q4 Tc% -"^" '3 \C0®�L"E 43 -"C '3 C",% 43
9T"* 4% $%�$" -. *Y1� 4#,3 43 )0Q

(C) To lift larger load by the application of a comparatively much 
smaller force
$70,"�4jC '3 Ts$ lF=% :1~ 43 I&F< '3 Tc3 !"# 4F \¯",3 43 )0Q

(D) None of these
M,-3 '3 4F� ,>% (

(C) 

102
09-
09-
2018

201

What is the primary function of a steam trap in a boiler? 

TJ&0# -. !"C L"0 4" I"A)-4 4"&E m" >??

(A) Recover heat from exit gases 
),4"' <?'F( '3 <-x C7,I"Ew 4#.

(B) Increase temperature of steam above saturated temperature
'($Yw $"C-", 43 �C# !"C 43 $"C-", -. *Y1�

(C) Separate the water particles from the steam 
!"C '3 C",% 43 4V 60< 4#.

(D) Drain off condensed water accumulating in the steam pipelines
!"C C"MC0"M,F( -. L-" {70,:%0 C",% 4F ),4"0.

(D) 
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202 Gas turbine plants can have:

A. Multistage compression

(D) 



B. Heat exchangers
C. Reheating For maximum efficiency which features should be 
incorporated in gas turbine power plant?

"<?' =#T"M, 4"#2",F( -. >F '4$" >?:

A. Ts@#%& 9T"*
B. $"C )*),&"-4
C. 9FT"#" <-E 4#,"6)+4$- ;-$" 43 )0Q <?' =T"EM, C"*# °"(= -.
45, '% )*:3Z$"r( 4F :")-0 )4&" L"," d")>Q?

(A) A only
43 *0 A

(B) A and B only
43 *0 A|# B

(C) B and C only
43 *0 B|# C

(D) A, B and C only
43 *0 A,B|# C
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Which of the following plants will have the minimum running cost?

),/)012$ -. '3 )4, 4"#2",F( -. \'3 d0",3 4% 0"<$ �H,$- >F<%?

(A) Nuclear power plant
C#-"V7 �L"E 4"#2","

(B) Diesel power plant
N%L0 �L"E 4"#2","

(C) Thermal power plant
$"C �L"E 4"#2","

(D) Hydro power plant
L0�L"E 4"#2","

(D) 
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204 An interconnected system has the following plants:

A. Run off river plant
B. Nuclear power plant
C. Steam power plant
D. Diesel engine power plant

Which plant can be exclusively for peak load?

Q4 6($hC#�# '(T1±$ B*�A" -. ),/)012$ 4"#2",3 >F$. >K:

A. #,Ru ,9% 4"#2","
B. C#-"V7 �L"E 4"#2","
C. !"C )TL0% 4"#2","
D. N%L0 M(L, C"*# 4"#2","

(D) 



45, '" 4"#2"," ):2# !"# 43 )0Q )*:3Z jC '3 >F '4$" >??

(A) A

(B) B

(C) C

(D) D

102
09-
09-
2018

205

Quality circles:

<7V"�4 *YW:

(A) are the boundary beyond which product quality can be improved
'%-" >K )L'43 D<3 \]"9 4% <7V*W" -. '7+"# )4&" L" '4$" >?

(B) bring better human relations with top management in their 
combined commitment to quality
<7V*W" 43 '"A '(&7~ I)$T�$" -. �C#% IT(+, 43 '"A T3>$# -",*
'(T(+ 0"Q(

(C) are essential to get ISO 9000 series certification
D�Q'r 9000 «Y(20" I-"V%4#V I"w 4#,3 43 )0Q D*�4 >K

(D) All options are correct
'!% )*4o '>% >K

(C) 

102 09-
09-
2018

206 Forecasting provides guidelines on:

A. How many of the products produced are likely to be demanded by 
the customers
B. Amount of business, the firm can expect during the planning 
period
C. Materials requirements schedule

CH*"E,7-", M' C# )9:"),9X: I9", 4#$" >?:

A. \]")9$ \]"9F( -. '3 )4$,3 \]"9F( 4% U">4F( ["#" -"(< 4% L"
'4$% >?
B. u-E ),&FL, 6*)+ 43 95#", B*'"& 43 -"^" 4% )4$,% \²%9 4%
L" '4$% >?
C. '"-U% D*�4$"r( 6,7'Hd%

(A) only A
43 *0 A

(B) only B
43 *0 B

(C) only C
43 *0 C

(D) 



(D) A, B and C
A, B |# C

102
09-
09-
2018
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When bevel gears connect two shafts whose axes intersect at an angle 
greater than a right angle and one of the bevel gears has a pitch angle 
of 90o, then they are known as

LT T3*0 )<&# 9F :"� 4F LFc$3 >K )L'4" 6; 9"Q( 4FV '3 6)+4 C#
4"=$" >? |# T3*0 )<&'E -. '3 Q4 -. 90 )NU% 4" �( d"� 4FV >F$" >?, 
$F *> L",3 L"$. >?

(A) crown bevel gears
$"L T3*0 )<&'E

(B) mitre gears
)-=# )<&'E

(C) internal bevel gears
D($}#4 T3*0 )<&'E

(D) angular bevel gears
4FV%& T3*0 )<&'E

(A) 

102
09-
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In assembly section, which of the following parts should have their 
section lines left out or shown in solid black?

6'.T0% '3³, -., ),/)012$ )>´F( -. '3 45, '" !"< 6C,% '3³,
0"M,F( 4F lFc4# ¯F' 4"03 #(< -. )92"&" L"," d")>Q?

(A) Bolts
TFµ¶'

(B) All fasteners
'!% u"�,'E

(C) Thin parts
C$03 !"<

(D) Rivets
}#*3=¶'

(C) 

102 09-
09-
2018

209 When there is a reduction in amplitude over every cycle of vibration, 
then the body is said to have:

LT 4( C, 43 I�34 dg C# D&"- -. 4-% >F$% >?, $T \' ),4"& 4F
&> >F,3 43 )0Q 4>" L"$" >?:

(A) free vibration
-7· 4( C,

(B) forced vibration
-LTH# 4( C,

(D) 



(C) damped vibration
6*-1¸$ 4( C,

(D) under damped
6*-1¸$ 43 ,%d3

102
09-
09-
2018

210

In a supersonic flow, a diffuser is a conduit having

Q4 '7C#'F),4 I*"> -., Q4 )*'"#4 Q4 '(*>,% >? )L'-.

(A) gradually decreasing area
+%#3 -+%#3 {=$" ;3^

(B) converging-diverging passage
6)!'#V-)*d0, -"<E

(C) constant area throughout its length
M'4% 0(T"� -. ),#($# ;3^

(D) None of these
M,-3 '3 4F� ,>% (

(A) 
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202 09-09-2018 211

In Indian Constitution, which of the 
following article guarantee Right to 
Education?

!"#$%& '()*+", -., ),/)012$ -. '3 45,
'" 6,783 9 ):;" 43 6)+4"# 4% <"#(=%
93$" >??

(A) Article 14
6,783 9 14

(B) Article 15
6,783 9 15

(C) Article 16
6,783 9 16

(D) Article 21A
6,783 9 21A

(D) 

202 09-09-2018 212 In August 2018, which of the following 
country have signed second protocol 
amending Comprehensive Economic 
Cooperation Agreement with India?

6<@ 2018 -., ),/)012$ -. '3 )4' 93:
,3 !"#$ 43 '"A B"C4D)AE4 '>&F<
'-G5$3 -. '(:F+, 4#,3 *"03 9H '#3
IF=F4J0 C# >@";# )4&3 >K?

(A) Singapore
)'(<"C7#

(B) Japan
L"C",

(C) Indonesia
M(NF,3):&"

(A) 



(D) Germany
L-E,%

202 09-09-2018 213

Which of the following acid is found in 
banana?

43 03 -. ),/)012$ -. '3 45, '" 6O C"&"
L"$" >??

(A) Citric acid
)')=P4 6O

(B) Acetic acid
Q'%)=4 6O

(C) Oxalic acid
RS3)04 6O

(D) Malic acid
-3)04 6O

(A) & 
(B) & 
(D) 

202 09-09-2018 214

According to NABARD, All India Rural 
Financial Inclusion Survey 2016-17, how 
much of rural income is generated by 
agriculture?

,"T"NE 6120 !"#$%& U"-%V )*W%&
'-"*3:, '*X;V 2016-17 43 6,7'"#, 
)4$,% U"-%V D& 4Y )Z ["#" \]")9$ 4%
L"$% >??

(A) 23%

(B) 40%

(C) 57%

(D) 63%

(A) 

202 09-09-2018 215 Which among the following ministry has 
launched Swach Survekshan Gramin 
2018?

(B) 



),/)012$ -. '3 )4' -(^"0& ["#" _8
'*X;V U"-%V 2018 4" 0F4"CEV )4&"
<&" >??

(A) Ministry of Agriculture and Farmar's 
Welfare
4Y )Z $A" )4'", 4`"V -(^"0&

(B) Ministry of Drinking Water and 
Sanitation
C3& L0 $A" _8$" -(^"0&

(C) Ministry of Rural Development
U"-%V )*4"' -(^"0&

(D) Ministry of Earth Science
CYa% )*b", -(^"0&

202 09-09-2018 216

In the following question, out of the four 
alternatives, select the alternative which 
best expresses the meaning of the 
idiom/phrase.

Birds of a feather flock together

(A) There is strength in numbers, a team 
can achieve what an individual can't.

(B) people of the same sort or with the 
same tastes and interests will be found 
together

(C) Even if they try people cannot change 
their tastes or interests

(D) People will flock together when they 
see an opportunity

(B) 

202 09-09-2018 217 In the following question, out of the four 
alternatives, select the alternative which 
is the best substitute of the phrase

Not able to be changed or reformed

(A) Redeemable

(C) 



(B) Cavalier

(C) Incorrigible

(D) Haughty

202 09-09-2018 218

In the following question, a sentence has 
been given in Direct/Indirect speech. Out 
of the four alternatives suggested, select 
the one which best expresses the same 
sentence in Indirect/Direct speech.

She said, "Mother, this dress looks 

beautiful."

(A) She said to her mother that, this dress 
looked beautiful.

(B) She said to her mother that, that dress 
looked beautiful.

(C) She said to her mother that, that dress 
looks beautiful.

(D) She said to her mother that, this dress 
looks beautiful.

(B) 

202 09-09-2018 219

The question below consists of a set of 
labelled sentences. Out of the four 
options given, select the most logical 
order of the sentences to form a coherent 
paragraph.

According to the steady-heating

A-in turn have a specific density

B-model, the coronal loop of a given

C-length and temperature should

(A) ACB

(B) BCA

(C) CAB

(D) CBA

(B) 



202 09-09-2018 220 Answer the given question based of the 
following passage.

My favorite part of Saturday is walking 
through the city. Sometimes I close my 
eyes and let Daddy’s hand guide me. 
When my eyes are closed, I can hear 
things I don’t usually notice. I can always 
hear the cars honking and the people 
shouting. But when my eyes are closed, I 
notice how the pigeons talk to each other 
while they sit on the benches. I notice 
how the bell on Wilson’s Grocery door 
sounds different than the bell at the 
hardware store.

What does the writer notice only if she 

closes her eyes?

(A) The talking of the pigeons

(B) The honking of the cars

(C) The shouting of the people

(D) The holding of daddy's hand

(A) 

202 09-09-2018 221

Raman sold a car to Rajat at a loss of 
14.28%. Rajat sold it to Vinit at a profit 
of 66.66%. If Rajat purchased the car at 
Rs 1400, then at what price (in Rs) 
Raman bought that car?

#-, ,3 #L$ 4F Q4 <"c% 14.28% 4% >"),
C# T3d%e #L$ ,3 )*,%$ 4F 66.66% 43 0"!
C# T3d%e &)9 #L$ ,3 <"c% 1400 f -.
2#%9%, $F #-, ,3 *> <"c% )4$,3 -H` (f
-.) C# 2#%9%?

(A) 1120

(B) 980

(C) 1633.33

(D) 1167.67

(C) 



202 09-09-2018 222 L, M and P can do a certain piece of work 
in 15, 20 and 40 days respectively. They 
started the work together. M left the work 
after 4 days of starting and P left the work 
before 3 days of completion. In how 
many days the work will be completed?

L, M $A" P Q4 4"&E 4F g-:h 15, 20 
$A" 40 )9, -. 4# '4$3 >Ke \iF,. 4"&E
'"A -. I"#(! )4&"e M, 4"&E :7j >F,3 43 4 
)9, Ck"$ 4"&E lFc4# d0" <&" $A" P, 
4"&E CHVE >F,3 43 3 )9, CH*E 4"&E lFc4#
d0" <&"e 4"&E )4$,3 )9, -. CHVE >F
L"Q<"?

(A) 9(6/11)

(B) 9(9/11)

(C) 10(5/11)

(D) 9(8/11)

(A) 

202 09-09-2018 223

In a trapezium, length of parallel sides are 
10 cm and 18 cm and the length of non-
parallel sides are 6 cm and 10 cm. What 
will be the length (in cm) of the line 
segment joining the midpoints of non-
parallel sides?

Q4 '-0m d$7!7EL -., '-"($# !7L"n( 4%
0m"o 10 '3.-%. $A" 18 '3.-%. >? $A"
6'-"($# !7L"n( 4% 0m"o 6 '3.-%. $A"
10 '3.-%. >?e 6'-"($# !7L"n( 43 -p )Tq97
4F LFc,3 *"03 #32"2r4% 0m"o ('3.-%. 
-.) s" >F<%?

(A) 10

(B) 14

(C) 12

(D) 8

(B) 



202 09-09-2018 224 If tan θ = 7/12, then what will be the 
value of [(sin θ + cos θ)/(3 sin θ + 4 cos 
θ)]?

&)9 tan θ = 7/12, $F [(sin θ + cos θ)/(3 sin 
θ + 4 cos θ)] 4" -",s" >F<"?

(A) 17/69

(B) 19/69

(C) 17/36

(D) 17/67

(B) 

202 09-09-2018 225 **** CASE QN ****

Read the question given below and select 
the correct option.

,%d3 )9Q <Q It 4F C)uQ v# '>% )*4w
d7),Qe
**** CASE QN ****

There are 5 shops L, M, N, P and R 
situated in city X. Each shop sell rice and 
wheat only. Total sales (in Rs) of rice by 
these shops is 12000, 8000, 7500, 10000 
and 9000 respectively. The respective 
ratio of sales of rice and wheat of these 
shops is 24 : 29, 5 : 9, 15 : 17, 5 : 4 and 
18 : 23 respectively. What is the total sale 
(in Rs) of wheat made by shop P and R 
together?

C"xd 974",. L, M, N, P $A" R :># X -.
1yA$ >?e Iz34 974", 43 *0 d"*0 $A" <3{x
>% T3d$% >?e M, 974",F( ["#" d"*0 4% 47 0
)Tg% (f -.) g-:h 12000, 8000, 7500, 
10000 $A" 9000  >?e M, 974",F( 4% d"*0
$A" <3{x 4% )Tg% 4" g-:h 6,7C"$ 24 : 
29, 5 : 9, 15 : 17, 5 : 4 $A" 18 : 23 >?e
974", P $A" R ["#" )-04# 4% <o <3{x 4%
47 0 )Tg% (f -.) )4$,% >??

(A) 19500

(A) 



(B) 20000

(C) 11000

(D) 9500

202 09-09-2018 226

In the following question, select the 
related number from the given 
alternatives.

23 : 60 : : 47 : ?

),/)012$ It -. )9Q <Q )*4wF( -. '3
'(T()+$ '(|" 4F d7),Qe

23 : 60 : : 47 : ?

(A) 74

(B) 54

(C) 64

(D) 84

(D) 

202 09-09-2018 227 Rajat started walking from point P. He 
walked 14 km towards north and reached 
point Q. He then turned right and walked 
37 km to reach point R. He turned left 
and walked 24 km to reach point S. He 
finally turned right and walked 18 km to 
reach point T. What is the straight line 
distance (in km) between point T and 
point R?

#L$ ,3 )Tq97 P '3 d0," I"#(! )4&"e *> 14 
)4.-%. \W# 4% n# d0" $A" )Tq97 Q C#
C}xd <&"e *> )~# 9"&% (n# -7c" $A" 37 
)4.-%. d04# )Tq97 R C# C}xd <&"e *>
T"&% (n# -7c" $A" 24 )4.-%. d04# )Tq97
S C# C}xd <&"e *> 6($$h 9"&% (n# -7c"
$A" 18 )4.-%. d04# )Tq97 T C# C}xd
<&"e )Tq97 T $A" )Tq97 R 43 -p '%+% #32"
9H #% ()4.-%. -.) )4$,% >??

(A) √5165

(B) 



(B) 30

(C) 28

(D) √890

202 09-09-2018 228

In a row of boys, M is at 13th position 
from the left end. L is standing 12 places 
to the right of M. R is 10 places to the left 
of L and two places to the right of M. If R 
is at 19th position from right end, then 
what are total number of boys in the row?

0c4F( 4% Q4 C(1� -., M T"&% (n# '3 13*.
yA", C# >?e L, M '3 12 yA", 9"&% (n#
2c" >?e R, L '3 10 yA", T"&% (n# >? $A"
M '3 9F yA", 9"&% (n# >?e &)9 R 9"&% (n#
'3 19*. yA", C# >?, $F C(1� -. 47 0 )4$,3
0c43 >K?

(A) 34

(B) 32

(C) 35

(D) 33

(D) 

202 09-09-2018 229 In the following question, select the 
missing number from the given series.

39, 41, 43, 47, 47, 53, 51, ?

),/)012$ It -. )9Q <Q )*4wF( -. '3 07�
6(4 b"$ 4%)LQe

39, 41, 43, 47, 47, 53, 51, ?

(A) 59

(B) 55

(C) 69

(A) 



(D) 65

202 09-09-2018 230

Select the correct set of mathematical 
operations to correct the given equation.

38 ? 12 ? 114 ? 4 ? 53 = –45

)9Q <Q '-%4#V 4F '>% 4#,3 43 )0Q
<)V$%& '()g&"n( 43 '>% '-H> 4F d7),Qe

38 ? 12 ? 114 ? 4 ? 53 = –45

(A) –, ÷, + ×

(B) ×, ÷, –, +

(C) ÷, –, + ×

(D) ×, ÷, +, –

(D) 

202 09-09-2018 231

Forces which meet at one point but their 
lines of action do not lie in one plane are 
called

*> T0 LF Q4 )T(97 C# )-0$3 $F >K, 03)4,
\,4% )g&" #32"Q( Q4 '$> C# ,>% ( >F$%
>?, \i. 4>" L"$" >?

(A) coplanar concurrent forces
'-$0%& '-*$� T0

(B) coplanar noncurrent forces
'-$0%& 6Id)0$ T0

(C) non-coplanar concurrent forces
<?#-'-$0%& '-*$� T0

(D) non-coplanar non concurrent forces
<?#-'-$0%& <?# '-*$� T0

(C) 

202 09-09-2018 232 The centre of percussions is

=4#"* 4" 4. � >?

(C) 



(A) same as centre of gravity
U3)*=% 43 4. � 43 '-", >%

(B) point in a body about which it can 
rotate horizontally and oscillates under 
the influence of gravity 
Q4 ),4"& -. )T(97 )L'43 T"#3 -. &>
<7f�"4ZEV 43 I!"* -. ;?)$L �H- '4$" >?
v# )>0$" >?

(C) point of application of the resultant of 
all the forces tending to cause a body to 
rotate about a central axis
'!% T0F( 43 C�#V"-_jCD*39, 4" )T(97
Q4 ),4"& 43 4. �%& 6;#32" -. �H-,3 43
)0Q 4"#V T,$" >?

(D) point of application forces of the 
body
:#%# 43 I&F< T0F( 4" )T(97

202 09-09-2018 233

The limiting force of friction is

�ZEV 4% '%)-$ :1� >?

(A) the value of friction which stops the 
motion of the body
�ZEV 4" ->� LF :#%# 4% <)$ 4F #F4$"
>?

(B) the value of friction that cannot 
exceed under a situation
�ZEV 4" ->� LF )4'% 1yA)$ 43 $>$
6)+4 ,>% ( >F '4$" >?

(C) the frictional force acting when the 
body is just to move
4"&E4"#% �ZEV T0 LT 4Fo ),4"& T'
yA","($�#$ 4#,3 43 )0Q >?

(D) No options are correct
4Fo )*4w '>% ,>% ( >K

(C) 

202 09-09-2018 234 A metal pipe of 1 m diameter contains a 
fluid having a pressure of 10 kgf/cm2. If 

(D) 



permissible tensile stress in the metal is 
200 kgf/cm2, then thickness of the metal 
required for making the pipe will be

1 -%=# B"' 4% +"$7 C"MC -. $#0 C9"AE >?
)L'-. 10 kgf/cm2 4" 9T"* >?e &)9 +"$7 -.
6,7-$ $�$" $,"* 200 kgf/cm2 >?, $F
C"MC T,",3 43 )0Q D*�4 +"$7 4%
-F="o >F<%5 mm
5 

(A) 5 mm
5 )--%

(B) 10 mm
10 )--%

(C) 20 mm
20 )--%

(D) 25 mm
25 )--%

202 09-09-2018 235

Buckling load will be maximum for a 
column, if

Q4 4J0- 43 )0Q T4)0(< !"# 6)+4$-
>F<", 6<#

(A) one end of the column is clamped and 
the other end is free
4J0- 4" Q4 )'#" 9T" }D >? v# 9H '#"
)'#" -7� >?

(B) both ends of the column are clamped
4J0- 43 9F,F( )'#3 9T3 }Q >?

(C) both ends of the column are hinged
4J0- 43 9F,F( )'#3 4�3 '3 6=43 }Q >?

(D) one end of the column is hinged and 
the other end is free
4J0- 4" Q4 )'#" 4�3 '3 6=4" }D >?
v# 9H '#" )'#" -7� >?

(B) 



202 09-09-2018 236 The buckling load in a steel column is

�%0 4J0- -. T4)0(< 0FN

(A) related to the length
0(T"o '3 '(T()+$ >?

(B) directly proportional to the 
slenderness ratio
'#(d," 6,7C"$ 43 '%+3 6,7jC

(C) inversely proportional to the 
slenderness ratio
'#(d," 6,7C"$ 43 )*C#%$h 6,7jC

(D) none of these
M,-3 '3 4Fo ,>% (

(A) 

202 09-09-2018 237

Radius of curvature of a stressed beam 
and modulus of elasticity:

Q4 $,"*U@ T%- v# 0Fd 43 -"C"(4 43
=3�3C, 4" #3 )N&':

(A) are directly proportional
'%+3 D,7C")$4 >K

(B) are inversely proportional
)*C#%$h D,7C")$4 >K

(C) are curvilinearly related
*g"�4$" '3 '(T()+$ >K

(D) have unpredictable relationship
6Iz"):$ '(T(+ >?

(D) 

202 09-09-2018 238 Which of the following is the correct 
sequence of operations in production 
planning and control?

\]"9, &FL," v# ),&(^V -. ),/)012$
-. '3 45, '" '(d"0, 4" '>% 6,7g- >??

(A) Routing-Scheduling-Dispatching-
Follow up

(A) 



j)=(<-:3�H)0(<-)N�?)d(<-~J0F 6C

(B) Scheduling-Routing- Dispatching-
Follow up
:3�H)0(<-j)=(<-)N�?)d(<-~J0F 6C

(C) Dispatching-Routing-Scheduling- 
Follow up
)N�?)d(<-j)=(<-:3�H)0(<-~J0F 6C

(D) Routing-Scheduling-Follow up-
Dispatching
j)=(<-:3�H)0(<-~J0F 6C-)N�?)d(<

202 09-09-2018 239

In reverse polarity welding:

\0=% CF0?�#=% *31�(< -.:

(A) work is positive and holder is earthed
4"- '4"#"�4 >? v# +"#4 !H'�)4E $ >?

(B) holder is positive and work is earthed
+"#4 '4"#"�4 >? v# 4"- !H'�)4E $ >?

(C) work is negative and holder is earthed
4"- ,4"#"�4 >? v# +"#4 !H'�)4E $ >?

(D) electrode holder is connected to the 
positive and work to the negative 
M03�P FN +"#4 '4"#"�4 '3 L7c" }D >?
v# ,4"#"�4 C# 4"- 4#$" >?

(D) 

202 09-09-2018 240 The brown flame during the operation of 
the Bessemer converter signifies:

T3'3-# 4,*=E# 43 '(d"0, 43 95#", !H#" 05
&> '(43 $ 4#$% >?:

(A) that silicon has burned out and carbon 
has started burning 
)4 )')04J, L0" )9&" <&" >? v# 4"TE,
L0,3 0<" >?

(B) that air is burning out the silicon and 
manganese resulting in high increase in 

(B) 



temperature and scrap steel needs to be 
added to control the temperature
*> >*" )')04J, 4F L0" #>% >? v#
-K<,%L 43 C�#V"-_jC $"C-", -. \�
*Y1� }o v# $"C-", 4F ),&()^$ 4#,3 43
)0Q�? C �%0 -. '(4)0$ )4&" L","
d")>Q

(C) that carbon has burned out and silicon 
has started burning
4"TE, L0" )9&" <&" >? v# )')04J,
L0," :7j >F <&" >?

(D) None of these
M,-3 '3 4Fo ,>% (

202 09-09-2018 241

In braze welding, which of the following 
is true with respect to the filler metal?

A. It is distributed by capillary attraction
B. It is melted and deposited at the point 
where the weld is to be made
C. It is not required at all

�3� *31�(< -., ),/)012$ -. '3 45, '"
!#,3 *"03 +"$7 43 '(T(+ -. 'd >??

A. &> 43 ):4" D4ZEV ["#" )*$�#$ )4&"
L"$" >?
B. &> )C�0"&" v# \' )T(97 C# L-" )4&"
L"$" >? L>"( LFc T,"&" L"," >?
C. &> )T�7 0D*�4 ,>% ( >?

(A) only A
43 *0 A

(B) only B
43 *0 B

(C) both A and B
A v# B 9F,F(

(D) only C
43 *0 C

(B) 



202 09-09-2018 242 In a closed system

Q4 T(9 )'�- -.

(A) energy transfers from surrounding to 
system
D'C"' '3 �L"E yA","($#V >F$% >? )'�-
-.

(B) energy transfers from system to 
surrounding
)'�- '3 �L"E D'C"' -. yA","($#V >F$%
>?

(C) energy transfers from system to 
surrounding and vice-versa
)'�- '3 �L"E D'C"' -. yA","($#V >F$%
>? v# M'43 )*C#%$ !%

(D) None of these
M,-3 '3 4Fo ,>% (

(C) 

202 09-09-2018 243

The Ratio of inertia force to elastic force 
is known as

0Fd9"# T0 43 )0Q 6)g&$" T0 4"
6,7C"$ &> L"," L"$" >?

(A) Weber Number
*3T# '(|"

(B) Reynold’s Number
#3,J� 4% '(|"

(C) Mach Number
-?d '(|"

(D) Froude Number
�"\N '(|"

(C) 

202 09-09-2018 244 For a fluid flow according to boundary 
layer concepts, separation occurs when 
the 

'%-" C#$ 6*+"#V"n( 43 6,7'"# $#0

(D) 



I*"> 43 )0Q, 60<"* $T >F$" >? LT

(A) pressure falls to zero.
9T"* :H� >F L"$" >?

(B) pressure rise is sudden and rapid
9T"* *Y1� 6d",4v# $3� >?

(C) different boundary layers come across 
a sharp turn or bend
60<-60< '%-" C#$. $%� -Fc &" -Fc -.
D<3 4F D$% >K

(D) boundary layers of the fluid becomes 
stationary
$#0 C9"AE 4% '%-" C#$ 1yA# >F L"$% >?

202 09-09-2018 245

A submerged body will be in stable 
equilibrium if the centre of gravity is

Q4 NH T3 }D ),4"& 1yA# '($70, -. >F<", 
6<# U3)*=% 4" 4. �

(A) below the centre of buoyancy
\l"0 43 4. � 43 ,%d3

(B) above the centre of buoyancy
\l"0 43 4. � 43 �C#

(C) coinciding with the centre of 
buoyancy
\l"0 43 4. � 43 '"A )-0$"-L70$"

(D) None of these
M,-3 '3 4Fo ,>% (

(A) 

202 09-09-2018 246 Entropy change depends on

Q( =P JC% C�#*$E, ),!E# 4#$" >?

(A) heat transfer
<-� 4" >@"($#V

(B) mass transfer
B"C4 4" >@"($#V

(A) 



(C) change of temperature
$"C-", -. C�#*$E,

(D) thermodynamic state
A-�N"&,")-4 1yA)$

202 09-09-2018 247

Work is considered to be a superior form 
of energy as compared to heat energy 
because

<-� �L"E 4% $70," -. 4"&E �L"E 4" Q4
T3>$# jC -"," L"$" >? sH()4

(A) work is direct energy 
4"- Iz;�L"E >?

(B) work is useful form of energy
4"- �L"E 4" Q4 \C&F<% jC >?

(C) while work can be fully converted 
into heat, heat cannot be fully converted 
into work
4"- 4#$3 }Q CH#% $#> '3 $"C -. C�#*)$E$
)4&" L" '4$" >?, $"C 4F CH#% $#> '3 4"-
-. C�#*)$E$ ,>% ( )4&" L" '4$" >?

(D) it is often required to convert heat 
into work and not vice versa
6�# $"C 4F 4"- -. T90,3 43 )0Q
M'4% D*�4$" >F$% >? v# M'43
)*C#%$ ,>% (

(C) 

202 09-09-2018 248 The viscosity of a gas

Q4 <?' 4% )dC)dC">=

(A) decreases with increase in 
temperature
$"C-", -. *Y1� 43 '"A �=$" >?

(B) increases with increase in temperature
$"C-", -. *Y1� 43 '"A T�$" >?

(C) is independent of temperature

(B) 



$"C-", '3 _$(^ >?

(D) is independent of pressure for very 
high pressure intensities
T}$ 6)+4 9T"* $%�$" 43 )0Q 9T"* '3
_$(^ >?

202 09-09-2018 249

The vapour compression refrigerator 
employs which of the following cycles?

*"� '(C%)N$ #3 )�L#3=# ),/)012$ dgF( -.
'3 45, '" 4"&E 4#$" >??

(A) Rankine
#K )4,

(B) Carnot
4",�=

(C) Reversed Rankine
\0=" #K40"M,

(D) Reversed Carnot
\0= 4","E=

(D) 

202 09-09-2018 250

The operation of finishing a drilled hole 
to its right size is known as: 

Q4 )NP 0 )4Q <Q l3 9 4F 6C,3 '>% D4"#
-. CH#" 4#,3 43 RC#3:, 4F L"," L"$" >?:

(A) Reaming
#%6)-(<

(B) Counter boring
4"\(=# TF�#(<

(C) Boring
TF�#(<

(D) Tapping
9F>,

(A) 

202 09-09-2018 251 (C) 



The mould for casting ferrous material in 
continuous casting process is made of:

A. Low carbon steel
B. Medium carbon steel
C. High carbon steel
D. Copper

),#($# 4"1�(< I)g&" -. 05> '"-U%
4"1�(< 43 )0Q -F� T," >F$" >?:

A. 4- 4"TE, �%0
B. -p- 4"TE, �%0
C. \�4"TE, �%0
D.4JC#

(A) only A
43 *0 A

(B) only B
43 *0 B

(C) only D
43 *0 D

(D) None of A, B, C and D
A,B,C v# D -. '3 4Fo ,>% (

202 09-09-2018 252

The best all-round coolant for carbide 
tools is:

4"T"EMN \C4#V 43 )0Q 'T'3 68" T}-
-72% :%$04 >?:

(A) soluble oil in plant
C5+3 -. �70,:%0 $30

(B) kerosene
)-�% 4" $30

(C) turpentine oil
$"#C%, 4" $30

(D) compressed air
'(C%)c$ >*"

(A) 



202 09-09-2018 253 Which of the following is a typical 
disadvantage of a roller contact bearing?

),/)012$ -. '3 45, '" #F0# '(C4E 6'#
4" Q4 IjC% ,74'", >??

(A) High initial cost
\� I"#( )!4 0"<$

(B) More liable to shock loads 
G=43 43 !"# 43 )0Q 6)+4 \W#9"&%

(C) High precision
\� :7�$"

(D) Requires high lubrication
\� �3>, 4% D*�4$" >?

(B) 

202 09-09-2018 254

A two stroke IC engine has a stroke 
length of 120 mm and cylinder diameter 
80 mm. Its mean effective pressure is 4 × 
105 N/m2 and the crankshaft speed is 
1500 r.p.m. What is its indicated power 
(in kW)?

Q4 9F �P F4Do'% M(L, -. �P F4 0(T"o
120 )--% v# )'0.N# B"' 80 )--% >?e
\'4" -p I!"*% 9T"* 4× 10 Q,/Q- 2 >?
v# gK 4:"�4% <)$ 1500 D#.C%.Q- >?e
M'4% ),)9E  :1�s" >? (43 N¡H -.)?

(A) 1.92

(B) 24.12

(C) 60.3

(D) None of these
M,-3 '3 4Fo ,>% (

(D) 

202 09-09-2018 255 In an IC engine, the connecting rod 
connects which of the following pair of 
parts?

Q4Do'% M(L, -., 4,31�(< #JN

(A) 



),/)012$ !"<F( -. '3 45, '3 LFcF( 4F
LFc$" >??

(A) Piston and crankshaft 
)C�,v# gK 4:"�

(B) Cylinder and crankshaft 
)'0.N# v# gK 4:"�

(C) Cylinder and piston 
)'0.N# v# )C�,

(D) None of these
M,-3 '3 4Fo ,>% (

202 09-09-2018 256

During starting of the engine, the journal 
bearings operate in ____________ 
friction.

M(L, 4% :7fD$ 43 95#",, L,E0 T%&�#(<
____________ �ZEV -. 4"- 4#$% >?e

(A) rolling
#F)0(<

(B) hydrodynamic friction
>"MNP FN"&,3)-4 �ZEV

(C) partial-film
D():4-)~¢

(D) None of these
M,-3 '3 4Fo ,>% (

(C) 

202 09-09-2018 257 Which of the following types of air 
compressors is being used in gas turbine?

<?' =#T"M, -. ),/ -. '3 )4' I4"# 43
Q&# 4£3'# 4" \C&F< )4&" L" #>" >??

(A) centrifugal type
43 ¤"C'"#4 I4"#

(B) reciprocating type
C"#��#4 I4"#

(D) 



(C) lobe type
0FT I4"#

(D) axial flow type
6;%& I*"> I4"#

202 09-09-2018 258

Which of the following statements is 
true?

),/)012$ -. '3 45, '" 4A, 'z >??

(A) Streamline body is an airfoil type of 
body.
�P %)-(< TJN% Q4 )*-", 43 C(2 L?'% TJN%
>?e

(B) Wave body is an airfoil type of body.
*3* TJN% Q4 )*-", 43 C(2 L?'% TJN% >?e

(C) Bluff body is an airfoil type of body.
¥~ TJN% Q4 )*-", 43 C(2 L?'% TJN% >?e

(D) Induced body is an airfoil type of 
body.
I3�#$ TJN% Q4 )*-", 43 C(2 L?'% TJN% >?e

(A) 

202 09-09-2018 259 Which of the following statements is 
true?

),/)012$ -. '3 45, '" 4A, 'z >??

(A) Fuel pump does not relate to 
compression ignition engine.
¦H0 C(C '(C%c, M)§:, M(L, '3 '(T()+$
,>% ( >?e

(B) Fuel injector does not relate to 
compression ignition engine.
¦H0 M(L3�# '(C%c, M)§:, M(L, '3
'(T()+$ ,>% ( >?e

(C) Governor does not relate to 
compression ignition engine.
<*,E# '(C%c, M)§:, M(L, '3 '(T()+$ ,>% (

(D) 



>?e

(D) Carburetor does not relate to 
compression ignition engine.
4"T�#3=# '(C%c, M)§:, M(L, '3 '(T()+$
,>% ( >?e

202 09-09-2018 260

What is a rotameter used to measure? 

#F="-%=# s" -"C,3 43 )0Q M@3-"0 )4&"
L"$" >??

(A) potential energy stored in a spring 
Q4 1 (̈< -. '(U>%$ '(!")*$ �L"E

(B) rotational speed of a shaft on a 
workshop machine
Q4 4"&E:"0" -:%, C# Q4 :"�4%
�HVE, <)$

(C) amount of torque applied 
0"<H =F© 4% -"^"

(D) flow rate of liquids or gases in a 
closed tube
Q4 T(9 ªHT -. $#0 C9"AE &" <?'F( 4"
I*"> 9#

(D) 

202 09-09-2018 261

A sine bar is a tool used to measure:

Q4 '"M, T"# -"C,3 43 )0Q \C&F< )4&"
L",3 *"0" Q4 \C4#V >?:

(A) length
0m"o

(B) thickness
-F="o

(C) inner diameter
!%$#% B"'

(D) angles
4FVF(

(D) 



202 09-09-2018 262 Steel which contains elements for the 
purpose of modifying the mechanical 
properties of plain carbon steels is called :

�%0 )L'-. '"93 4"TE, �%« 43 &"()^4
<7VF( 4F jC"($�#$ 4#,3 43 \¬3� '3 $�
:")-0 >K, 4F 4>" L"$" >?:

(A) Alloy steel
60J& �%0

(B) Invar
M­"#

(C) Stainless steel
�3,03' �%0

(D) High speed steel
$%�<)$ �%0

(A) 

202 09-09-2018 263

Alloy steel containing 36% nickel is 
called :

36% ),®3 0 &7� Q0J& �%0 4F 4>"
L"$" >?

(A) Invar
M­"#

(B) Stainless steel
�3,03' �%0

(C) High speed steel
$%�<)$ �%0

(D) None of these
M,-3 '3 4Fo ,>% (

(A) 

202 09-09-2018 264 Which of the following has excellent 
resistance to acids?

),/)012$ -. '3 )4' -. Q)'N 43 )0Q
\W- I)$#F+ >??

(A) Permalloy

(C) 



C-EQ0"&

(B) Constantan
4F ?̄,=3,

(C) Hastelloy
>?�Q°J&

(D) Monel metal
-FV0 +"$7

202 09-09-2018 265

Depreciation of machines is categorised 
under the head of

-:%,F( 43 )*-H`, 4F )4' I-72 43 ,%d3
*<�4Y $ )4&" <&" >?

(A) direct expenses
Iz; 2dE

(B) indirect expenses
6Iz; 2dE

(C) receipts
I"1�&F(

(D) administrative expenses
I:"'),4 2dE

(B) 

202 09-09-2018 266 In a capital intensive production system, 
the dominant position is occupied by

Q4 CH(L% I2# \]"9, IV"0% -., I-72
1yA)$ C# 4±" )4&" L"$" >?

(A) replacement policy 
I)$yA"C, ,%)$

(B) labour policy
²- ,%)$

(C) capital investment policy
CH(L%<$ ),*3: ,%)$

(A) 



(D) material procurement policy
!5)$4 2#%9 ,%)$

202 09-09-2018 267

The purpose of micro-motion study is to

-"MgF--F:, 6p&, 4" \¬3� >?

(A) assist in finding out the most efficient 
way of doing work
4"- 4#,3 4" 'T'3 I!"*% $#%4" 2FL,3 -.
'>"&$" 4#,"

(B) train the individual operator regarding 
the motion economy principle
<)$ 6AEB*yA" )'�"($ 43 '(T(+ -.
B1�<$RC#3=# 4F I):);$ 4#,"

(C) help in collecting the motion time 
data for synthetic time standards
4Y )^- '-& -",4F( 43 )0Q <)$ '-& N3="
Q4^ 4#,3 -. -99 4#,"

(D) All options are correct
'!% )*4w '>% >K

(D) 

202 09-09-2018 268 Which of the following are typical 
characteristics of a Pelton wheel?

),/)012$ -. '3 45, '3 C30=, ³%0 4%
)*):  )*:3Z$"Q( >K?

(A) Works under a low head and requires 
large quantity of water. 
Q4 4- I-72 43 ,%d3 4"- 4#$" >? v#
Tc% -"^" -. C",% 4% D*�4$" >F$% >?e

(B) Works under a low head and requires 
small quantity of water.
Q4 4- I-72 43 ,%d3 4"- 4#$" >? v#
C",% 4% AFc% -"^" 4% D*�4$" >F$% >?e

(C) Works under a high head and requires 
large quantity of water.
Q4 \� I-72 43 ,%d3 4"- 4#$" >? v#
C",% 4% Tc% -"^" 4% D*�4$" >F$% >?e

(D) 



(D) Works under a high head and requires 
small quantity of water.
Q4 \� I-72 43 ,%d3 4"- 4#$" >? v#
C",% 4% AFc% -"^" 4% D*�4$" >F$% >?e

202 09-09-2018 269

In a centrifugal pump, the flow enters the 
chamber along the axis of the chamber 
and is discharged: 

Q4 4. �"C'"#% C(C -., I*"> 4; 43 +7#% 43
'"A 4; -. I*3: 4#$" >? v# lFc" L"$"
>?:

(A) radially
)^´"$

(B) axially
6;%& jC '3

(C) at a certain angle
Q4 ),)k$ 4FV C#

(D) None of these
M,-3 '3 4Fo ,>% (

(A) 

202 09-09-2018 270 Hydraulic press is a device used

>"MNP F)04 I3' Q4 \C4#V >? )L'4"
M@3-"0 )4&" L"$" >?

(A) To store pressure energy, which may 
be applied to any machine later on
9T"* �L"E 4F L-" 4#,3 43 )0Q, )L'3 T"9
-. )4'% !% -:%, C# 0"<H )4&" L" '4$"
>?

(B) To increase the intensity of pressure 
of water by measure of energy available 
from a large quantity of water at a low 
pressure
4- 9T"* C# C",% 4% Q4 Tc% -"^" '3
\C0µ�L"E 43 -"C '3 C",% 43 9T"* 4%
$%�$" -. *Y1� 4#,3 43 )0Q

(C) 



(C) To lift larger load by the application 
of a comparatively much smaller force
$70,"�4jC '3 T}$ lF=% :1� 43
I&F< '3 Tc3 !"# 4F \¶",3 43 )0Q

(D) None of these
M,-3 '3 4Fo ,>% (

202 09-09-2018 271

What is the primary function of a steam 
trap in a boiler? 

TJ&0# -. !"C L"0 4" I"A)-4 4"&E s"
>??

(A) Recover heat from exit gases 
),4"' <?'F( '3 <-� C7,I"E� 4#.

(B) Increase temperature of steam above 
saturated temperature
'($Y� $"C-", 43 �C# !"C 43 $"C-", -.
*Y1�

(C) Separate the water particles from the 
steam 
!"C '3 C",% 43 4V 60< 4#.

(D) Drain off condensed water 
accumulating in the steam pipelines
!"C C"MC0"M,F( -. L-" �70,:%0 C",% 4F
),4"0.

(D) 

202 09-09-2018 272 Gas turbine plants can have:

A. Multistage compression
B. Heat exchangers
C. Reheating For maximum efficiency 
which features should be incorporated in 
gas turbine power plant?

"<?' =#T"M, 4"#2",F( -. >F '4$" >?:

A. T}@#%& 9T"*
B. $"C )*),&"-4
C. 9FT"#" <-E 4#,"6)+4$- ;-$" 43
)0Q <?' =T"EM, C"*# ·"(= -. 45, '%

(D) 



)*:3Z$"n( 4F :")-0 )4&" L"," d")>Q?

(A) A only
43 *0 A

(B) A and B only
43 *0 A v# B

(C) B and C only
43 *0 B v# C

(D) A, B and C
A,B v# C

202 09-09-2018 273

Which of the following plants will have 
the minimum running cost?

),/)012$ -. '3 )4, 4"#2",F( -. \'3
d0",3 4% 0"<$ �H,$- >F<%?

(A) Nuclear power plant
C#-"V7 �L"E 4"#2","

(B) Diesel power plant
N%L0 �L"E 4"#2","

(C) Thermal power plant
$"C �L"E 4"#2","

(D) Hydro power plant
L0�L"E 4"#2","

(D) 

202 09-09-2018 274 An interconnected system has the 
following plants:

A. Run off river plant
B. Nuclear power plant
C. Steam power plant
D. Diesel engine power plant

Which plant can be exclusively for peak 
load?

Q4 6($hC#�# '(T1¸$ B*yA" -.
),/)012$ 4"#2",3 >F$. >K:

(D) 



A. #,R~ ,9% 4"#2","
B. C#-"V7 �L"E 4"#2","
C. !"C )TL0% 4"#2","
D. N%L0 M(L, C"*# 4"#2","

45, '" 4"#2"," ):2# !"# 43 )0Q )*:3Z
jC '3 >F '4$" >??

(A) A

(B) B

(C) C

(D) D

202 09-09-2018 275

Quality circles:

<7V"�4 *YW:

(A) are the boundary beyond which 
product quality can be improved
'%-" >K )L'43 D<3 \]"9 4% <7V*W" -.
'7+"# )4&" L" '4$" >?

(B) bring better human relations with top 
management in their combined 
commitment to quality
<7V*W" 43 '"A '(&7� I)$T�$" -. �C#%
IT(+, 43 '"A T3>$# -",* '(T(+ 0"Q(

(C) are essential to get ISO 9000 series 
certification
DoQ'n 9000 ²Y(20" I-"V%4#V I"�
4#,3 43 )0Q D*�4 >K

(D) All options are correct
'!% )*4w '>% >K

(C) 

202 09-09-2018 276 Forecasting provides guidelines on:

A. How many of the products produced 
are likely to be demanded by the 
customers

(D) 



B. Amount of business, the firm can 
expect during the planning period
C. Materials requirements schedule

CH*"E,7-", M' C# )9:"),9X: I9", 4#$"
>?:

A. \]")9$ \]"9F( -. '3 )4$,3 \]"9F( 4%
U">4F( ["#" -"(< 4% L" '4$% >?
B. ~-E ),&FL, 6*)+ 43 95#", B*'"& 43
-"^" 4% )4$,% \¹%9 4% L" '4$% >?
C. '"-U% D*�4$"n( 6,7'Hd%

(A) only A
43 *0 A

(B) only B
43 *0 B

(C) only C
43 *0 C

(D) A, B and C
A,B v# C

202 09-09-2018 277 When bevel gears connect two shafts 
whose axes intersect at an angle greater 
than a right angle and one of the bevel 
gears has a pitch angle of 90o, then they 
are known as

LT T3*0 )<&# 9F :"� 4F LFc$3 >K
)L'4" 6; 9"Q( 4FV '3 6)+4 C# 4"=$"
>? v# T3*0 )<&'E -. '3 Q4 -. 90 )NU% 4"
�( d"o 4FV >F$" >?, $F *> L",3 L"$. >?

(A) crown bevel gears
$"L T3*0 )<&'E

(B) mitre gears
)-=# )<&'E

(C) internal bevel gears
D($�#4 T3*0 )<&'E

(A) 



(D) angular bevel gears
4FV%& T3*0 )<&'E

202 09-09-2018 278

In assembly section, which of the 
following parts should have their section 
lines left out or shown in solid black?

6'.T0% '3º, -., ),/)012$ )>»F( -. '3
45, '" !"< 6C,% '3º, 0"M,F( 4F
lFc4# ¶F' 4"03 #(< -. )92"&" L","
d")>Q?

(A) Bolts
TF¼½'

(B) All fasteners
'!% ~"�,'E

(C) Thin parts
C$03 !"<

(D) Rivets
�#*3=½'

(C) 

202 09-09-2018 279

When there is a reduction in amplitude 
over every cycle of vibration, then the 
body is said to have:

LT 4( C, 43 Iz34 dg C# D&"- -. 4-%
>F$% >?, $T \' ),4"& 4F &> >F,3 43 )0Q
4>" L"$" >?:

(A) free vibration
-7¾ 4( C,

(B) forced vibration
-LTH# 4( C,

(C) damped vibration
6*-1¿$ 4( C,

(D) under damped
6*-1¿$ 43 ,%d3

(D) 



202 09-09-2018 280 In a supersonic flow, a diffuser is a 
conduit having

Q4 '7C#'F),4 I*"> -., Q4 )*'"#4 Q4
'(*>,% >? )L'-.

(A) gradually decreasing area
+%#3 -+%#3 �=$" ;3^

(B) converging-diverging passage
6)!'#V-)*d0, -"<E

(C) constant area throughout its length
M'4% 0(T"o -. ),#($# ;3^

(D) None of these
M,-3 '3 4Fo ,>% (

(A) 
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71

Which of the following provision can be 
amended by the special majority of Parliament?

!"#!$%&' () *+ ,-" *. /.01." *2*3 ,+ !04+5
67(' *+ *248!1' !,9. :. *,'. ;<?

(A) Use of official language
=!1,.>?, @.5. ,. /98A

(B) Fundamental Rights
(-!$, B!1,.?

(C) Use of English language in Parliament
*2*3 () B2C+:D @.5. ,. /98A

(D) Formation of new states
"9+ ?.E82 ,. !"(.FG

(B) 

201
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09-
2018

72

In May 2018, International Conference based on 
the TRIPS CBD Linkage was held in ______.

(H 2018 (), !IJK *D6DLD !$2,+ : M? =1.>?'
B2'?.FNJ D9 *O+$" ______ () =98!:' 7= P.Q

(A) Switzerland
%RI:?$SL

(B) China
TD"

(C) Israel
U:?.U$

(D) United Arab Emirates
*29VW B?6 B(D?.'

(A) 
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73 Which of the following depicts the nature of the 
image in human eye?

(A) 



!"#!$%&' () *+ ,-" *. ("VX ,D =Y& ()
/!'!6Z ,D /,[ !' ,8 34.F'. ;<?

(A) Real and inverted
0.\!0, 'P. ]^D

(B) Real and erect
0.\!0, 'P. *D1D

(C) Virtual and inverted
=@.*D 'P. ]^D

(D) Virtual and erect
=@.*D 'P. *D1D
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In July 2018, which of the bank have joined 
hands with State Bank of India to provide 
collateral free credit through group Joint 
Liability Groups in Telangana?

:V$.H 2018 (), !,* 6S, "+ '+$A.2". () *29VW
3+9'. *(_; ,+ (.`( *+ *2M.!aF, (VW b+ !LI
/3." ,?"+ ,+ !$c @.?'D9 d+I 6S, *+ ;.P
!($.9. ;<?

(A) IDBI Bank
=HLD6D=H 6S,

(B) NABARD
".6.LF

(C) Bank of India
6S,ef U2!L9.

(D) ICICI Bank
=H*D=H*D=H 6S,

(B) 
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75 For which age group UIDAI has launched the 
blue colour card?

9_=HLDc=H "+ !,*=9V 0AF ,+ !$c "D$+ ?2A ,+
,.LF ,. $8,.MFG !,9. ;<?

(A) 0 – 5 years
0 – 5 05F

(A) 



(B) 0 – 7 years
0 – 7 05F

(C) 0 – 10 years
0 – 10 05F

(D) 0 – 12 years
0 – 12 05F
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In the following question, out of the four 
alternatives, select the alternative which best 
expresses the meaning of the idiom/phrase.

Actions speak louder than words

(A) what someone actually does means more 
than what they say they will do

(B) Words are very powerful they can move 
mountains

(C) the pen is mightier than the sword

(D) those who bark seldom bite

(A) 
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In the following question, out of the four 
alternatives, select the alternative which is the 
best substitute of the phrase

The use of irony to mock or convey contempt

(A) Accolade

(B) Eulogy

(C) Plaudit

(D) Sarcasm

(D) 
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78 In the following question, a sentence has been 
given in Direct/Indirect speech. Out of the four 
alternatives suggested, select the one which best 
expresses the same sentence in Indirect/Direct 
speech.

He said to his friend, "I will be driving to the 

(C) 



city tomorrow."

(A) He informed his friend that he will be 
driving to the city the next day.

(B) He informs his friend that he would be 
driving to the city the next day.

(C) He informed his friend that he would be 
driving to the city the day next day.

(D) He informs his friend that he will be driving 
to the city the next day.
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The question below consists of a set of labelled 
sentences. Out of the four options given, select 
the most logical order of the sentences to form a 
coherent paragraph.

To serve more pedestrian

A-street food vendors congregate

B-each evening at the riverside

C-gastronomic pleasures, Siem Reap’s

(A) ACB

(B) BCA

(C) CAB

(D) CBA

(C) 
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80 Answer the given question based of the 
following passage. Socrates tried to answer the 
question, ‘How to live?’ Kierkegaard attempted 
it, too. Posing the same question to the average 
Indian, one can expect such an answer: get 
educated, find a decent job, save money, get 
married, procreate, save more money, build 
house, ensure safe retirement and die. Of 
course, some indulgence in entertainment now 
and then, or daily, is assumed. Anybody who 
strays from this trodden path is dismissed as a 
lunatic.

What is a person who does not follow the 

normal way of life is regarded as?

(B) 



(A) He is understood to be sensible.

(B) He is considered crazy.

(C) He is dismissed as a visionary.

(D) It is thought he is an ascetic.
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Marks obtained by two students are in the ratio 
of 7 : 5. The product of their marks is 2835. 
What are the total marks obtained by both the 
students together?

38 !0g.!PF982 h.?. /.i !,c Ac B2, 7 : 5 ,+
B"VM.' () ;<Q ]",+ B2,82 ,. AVG"f$ 2835 ;<Q
38"82 !0g.!PF982 h.?. !($.,? /.i ,V $ B2, !,'"+
;S?

(A) 109

(B) 118

(C) 108

(D) 119

(C) 
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82 In a beaker, liquid A and B are in the ratio of 5 : 
7 respectively. In other beaker, liquid B and A 
are in the ratio 13 : 11 respectively. In what 
ratio, mixtures from these two beakers should 
be mixed to get a new mixture containing liquid 
A and B in the ratio of 9 : 11 respectively?

c, 6D,? (), '?$ A 'P. B b(4j 5 : 7 ,+
B"VM.' () ;<Q c, Bk 6D,? (), '?$ B 'P. A 
b(4j 13 : 11 ,+ B"VM.' () ;<Q U" 38 6D,?82 () *+
!(lG82 ,8 !,* B"VM.' () !($.9. :.". T.!;c
'.!, c, "9. !(lG /.i ;8 :.c !:*() '?$ A 
'P. B b(4j 9 : 11 ,+ B"VM.' () ;8?

(A) 4 : 1

(B) 1 : 4

(C) 1 : 3

(B) 



(D) 2 : 5
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In an equilateral triangle of side 10 cm, what 
will be the ratio of the areas of incircle and 
circumcircle?

c, 10 *+.(D. @V:. ,+ *(6.7 !m@V: () B2'j0[n
'P. M>?0[n ,+ o+mf$82 ,. B"VM.' p. ;8A.?

(A) 1 : √3

(B) 2 : √3

(C) 1 : 3

(D) 1 : 4

(D) 
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If 0 < A < 90o, then what will be the value of 
cosec A – cot A?

9!3 0 < A < 90o ;8, '8 cosec A – cot A ,. (."
p. ;8A.?

(A) √[(1 – sin A)/(1 + sin A)]

(B) √[(1 – cos A)/(1 + cos A)]

(C) √[(1 + sin A)/(1 – sin A)]

(D) √[(1 + cos A)/(1 – cos A)]

(B) 
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85 **** CASE QN ****

Read the question given below and select the 
correct option.

"DT+ !3c Ac /q ,8 M!rc s? *;D !0,t TV!"cQ
**** CASE QN ****

The 5 factories L, M, N, P and R situated in city 
X develop cricket bats. There are some bats 
made up of wood and some are made up of 
plastic. Total bats manufactured by all the 
factories together in year 2012 are 192000. 
Total bats manufactured by these 5 factories in 
2012 are in the ratio 5 : 7 : 9 : 5 : 6 respectively. 

(B) 



Each factory manufactured both type of bats. If 
30% out of the total bats manufactured by 
factory R are of plastic, then what are the 
number of wooden bats manufactured by 
factory R?

4;? X () 5 f< %uJ 9.Y L, M, N, P 'P. R !b,+ I ,+
6v) 6".'D ;SQ U"() *+ ,V w 6v+ $,xD ,+ 6"+
7c ;S 'P. ,V w y.%d, ,+ 6"+ 7c ;SQ 05F 2012 
(), *@D f< %uJ 982 h.?. !($.,? 6".c Ac 6v82 ,D
*2z. 192000 ;<Q 05F 2012 (), U" 5 f< %uJ 982 h.?.
6".c Ac 6v82 ,. B"VM.' b(4j 5 : 7 : 9 : 5 : 6 
;<Q /{+, f< uJ D "+ 38"82 /,.? ,+ 6v+ 6".c ;SQ
9!3 f< uJ D R h.?. 6".c Ac 6v82 () *+ 30% 6v+
y.%d, ,+ ;S, '8 f< uJ D R h.?. 6".c Ac $,xD
,+ 6v82 ,D *2z.p. ;<?

(A) 10800

(B) 25200

(C) 25600

(D) 28400
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In the following question, select the related 
number from the given alternatives.

54 : 197 : : 96 : ?

!"#!$%&' /q () !3c Ac !0,t82 () *+ *262!1'
*2z. ,8 TV!"cQ

54 : 197 : : 96 : ?

(A) 239

(B) 229

(C) 249

(D) 219

(A) 
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87 Eight boxes A, B, C, D, E, F, G and H are kept 
one above the other. There are 4 boxes between 
F and C and F is kept above C. Total 7 boxes 

(D) 



are kept above C. F is not kept somewhere 
between D and E. One box is kept between the 
F and B and B is at fifth position from top. 
There are two boxes between box D and box E. 
Which of the following box is at fourth position 
from the top?

=| !L}+ A, B, C, D, E, F, G 'P. H ,8 c, ,+
~M? c, ?&. A9. ;<Q F 'P. C ,+ (` 4 !L}+ ;S
'P. F ,8 C ,+ ~M? ?&. A9. ;<Q C ,+ ~M? ,V $
7 !L}+ ?&+ Ac ;SQ F ,8 D 'P. E ,+ (` ,;D 2 @D
";D 2 ?&. A9. ;<Q F 'P. B ,+ (` c, !L}. ?&.
A9. ;< 'P. B ~M? *+ M.YT0) �P." M? ;<Q !L}. D 
'P. !L}. E ,+ (` 38 !L}+ ;SQ !"#!$%&' () *+
,-" *. !L}. ~M? *+ T-P+ �P." M? ;<?

(A) D

(B) E

(C) B

(D) D or E
D BP0. E
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88 ‘R + P’ means ‘R is the father of P’, ‘R × P’ 
means ‘R is the son of P’, ‘R ÷ P’ means ‘R is 
the mother of P’ and ‘R – P’ means ‘R is the 
sister of P’. How is F related to T in the 
expression M + F – G × H ÷ T?

‘R + P’ ,. BPF ;< !, ‘R, P ,. !M'. ;<’, ‘R × P’
,. BPF ;< !, ‘R, P ,. MVm ;<’, ‘R ÷ P’ ,. BPF ;<
!, ‘R, P ,D (.'. ;<’ 'P. ‘R – P’ ,. BPF ;< !,
‘R, P ,D 6;" ;<’Q M + F – G × H ÷ T *(D,?G
() F, T *+ !,* /,.? *262!1' ;<?

(A) Aunt
6V=

(B) Daughter
MVmD

(C) Mother
(.'.

(D) 



(D) Sister
6;"
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In the following question, select the odd number 
pair from the given alternatives.

!"#!$%&' /q () !3c Ac !0,t82 () *+ !05(
*2z. 9V� ,8 TV!"cQ

(A) 11 – 119

(B) 13 – 167

(C) 18 – 326

(D) 24 – 574

(C) 
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If ‘R’ means ‘+’, ‘H’ means ‘÷’ , ‘T’ means ‘×’ 
and ‘A’ means ‘–’, then what will be the value 
of expression 579 T (23/193) R (17/34) H 51 A 
16?

9!3 ‘R’ ,. BPF ‘+’, ‘H’ ,. BPF ‘÷’, ‘T’ ,. BPF
‘×’ 'P. ‘A’ ,. BPF ‘–’ ;<, '8 *(D,?G 579 T 
(23/193) R (17/34) H 51 A 16 ,. (."p. ;8A.?

(A) 5907/102

(B) 5407/102

(C) 7637/112

(D) 5217/112

(B) 
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91 If a particle is moving in Simple Harmonic 
Motion in a simple pendulum with some period 
of oscillation, then in order to double the period 
of oscillation

9!3 c, *.1.?G M)LV$( () c, ,G *?$
;.(�!", (84" () ,V w =0[!n ,+ *.P T$ ?;. ;<, 
'8 !f? ]*,D !;$"+ ,D B0!1 ,8 38AV". ,?"+ ,+
!$c

(D) 



(A) mass of the bob should be doubled
6�6 ,. !M2L 38AV". ,? 3+". T.!;c

(B) mass of the bob should be halved
6�6 ,+ !M2L ,8 =1. ,? 3+". T.!;c

(C) length of pendulum should be doubled
M)LV$( ,D $26.H 38AV"D ;8"D T.!;c

(D) length of pendulum should be quadrupled
M)LV$( ,D $26.H T-AV"D ;8"D T.!;c
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A wound watch spring possesses energy in the 
form of

c, o!' �xD %�2A ~:.F ,8 !,* �M () 1.?G
,?'. ;<

(A) kinetic energy
,.U"+!I, ]:.F

(B) spring energy
%�2A ~:.F

(C) mechanical potential energy
9�D9 *2@.!0' ~:.F

(D) none of these
U"(+ *+ ,8H ";D 2

(C) 
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93 If on removal of effort, the machine is capable 
of doing some work in reverse direction, the 
machine is called

9!3 l( ,8 ;I."+ M?, (4D" !0M?D' !34. () ,V w
,.( ,?"+ () *o( ;<, '8 ]* (4D" ,8 ,;. :.'.
;<

(A) reversible machine
M>?0'F"D9 (4D"

(B) irreversible machine
BM>?0'F"D9 (4D"

(C) reversible or irreversible

(A) 



M>?0'F"D9 9. BM>?0'F"D9

(D) both reversible and irreversible
M>?0'F"D9 s? BM>?0'F"D9 38"82
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(A) (a)

(B) (b)

(C) (c )

(D) (d)

Question 
Withdrawn 
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95 Bending moment M and torque T is applied on 
a solid circular shaft. If maximum bending 
stress equals maximum shear stress developed, 
then M is equal to

(A) 



�V,.0 M$ M s? I8� T c, |8* A8$ 4.� M?
$.A_ !,9. :.'. ;<Q 9!3 B!1,'( �V,.0 '".0, 
!0,!*' B!1,'( ,'?"D '".0 ,+ 6?.6? ;< '8
M 6?.6? ;<

(A) T/2

(B) T

(C) 2T

(D) 4T
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Which among the following are the types of 
normal stresses?

!"# () *+ ,-" *. *.(.k '".0 ;<?

(A) Tensile and compressive stresses
'ks? *2MDx" '".0

(B) Tensile and thermal stresses
'ks? '.MD9 '".0

(C) Shear and bending
!49? s? �V,.0

(D) Compressive and plane stresses
*2MDx" s? *('$ '".0

(A) 
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97 The shear stress along the principal plane 
subjected to maximum principal stress is:

(Vz !0(." ,+ *.P !49? dJ +* B!1,'( (Vz
'".0 ,+ B1D" ;<:

(A) minimum
k_"'(

(B) maximum
B!1,'(

(C) zero
4_k

(C) 



(D) any value depending on loading conditions
$8!L2A M>?%�P!'98 M? =1.>?' ,8H @D 0<�_
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Which of the following statements is true? 

!"#!$%&' () *+ ,-" *+ ,P" *{ ;S?

(A) Procurement cycle time is time consumed 
for receiving of raw material
/.%i Tb *(9 0; *(9 ;< :8 ,�+ (.$ ,8 /.i
,?"+ ,+ !$c $A'. ;<

(B) Procurement cycle time is time consumed 
for inspection of various raw materials
/.%i Tb *(9 0; *(9 ;< :8 !0!@� ,�+ (.$
,+ !"?DoG ,+ !$c /9VW ;8'. ;<

(C) Procurement cycle time is time consumed 
for inspection of purchased components parts
/.%i Tb *(9 0; *(9 ;< :8 &?D3+ Ac MV:� ,+
!;�82 ,+ !"?DoG ,+ !$c /9VW ;8'. ;<

(D) All options are correct
*@D !0,t *;D ;S

(A) 
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99 Too fast welding speed in arc welding would 
result in:

=,F 0+%�2A () 67' '+:D *+ 0+%�2A ,D A!' ,+
M>?G.(R�M:

(A) excessive pilling up to weld metal, poor 
penetration, wasted electrodes
B{!1, !M!$2A ', :8x"+ 0.$. 1.'V, �!I9.
!"0+4, ,(�8? U$+uJ 8L*

(B) excessive spatter, under cutting along edges, 
irregular, deposit, wasted electrodes
B{!1, !wL,", !,".?82 ,+ *.P ,.I"+ ,+ ';', 
B!"9!(', :(., 66.F3 U$+uJ 8L

(C) too small bead, weak weld and wasted 
electrodes
67' w8I. (",., ,(:8? 0+�s? 66.F3
U$+uJ 8L

(C) 



(D) excessive pilling up of weld metal, 
overlapping without penetration of edges, 
wasted electrodes
0+� 1.'V ,D B{!1, !M!$2A, !,".?82 ,+ /0+4 ,+
!6". �0?$<!M2A, 66.F3 U$+uJ 8L
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Inert gas arc welding, which of the following is 
used for welding magnesium?

!"%�9 A<* =,F 0+%�2A (), !"#!$%&' () *+ ,-"
*. 0+%�2A (<�D!49( ,+ !$c ]M98A !,9. :.'.
;<?

(A) non-combustible electrodes in combination 
with helium and D.C. current
". :$"+ 0.$+ U$+uJ 8L*s?=AF" ,+ *298:" ,+
*.P ;D!$9(s? D.C. /0.;

(B) combustible electrodes and argon in 
combination with A.C. current
:$"+ 0.$+ U$+uJ 8L*s?=AF" ,+ *298:" ,+
*.P A.C. /0.;

(C) straight polarity D.C. current
*D1+ �V0D9'. D.C. /0.;

(D) carbon dioxide, because of its excellent 
penetration and high speed
,.6F" L.U=�.UL, ]*,+ ]n( /0+4 s? ]�
A!' ,+ ,.?G

(A) 
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101 The function of the flux in the blast furnace 
is/are:

A. To bring down the softening point of the 
gangue material
B. To reduce the viscosity of the slag
C. To decrease the activity of some components 
to make them stable or unstable in the slag 
phase
Of these, the correct statement(s) is/are:

!0�8I @�D () /0.; ,. ,.9F ;<:

A. =1.mD *.(CD ,+ "?( !623V ,8 "DT+ $.".

(D) 



B. �<A ,D !TM!TM.M" ,8 ,( ,?"+ ,+ !$c
C. MV:� ,8 �<A T?G () %�P? 9. B%�P? 6"."+ ,+
!$c ,V w A!'!0!1 ,8 ,( ,?"+ ,+ !$c
U"() *+, *;D ,P" ;<:

(A) Only A
,+ 0$ A

(B) Only B
,+ 0$ B

(C) Only C 
,+ 0$ C

(D) All options are correct
*@D !0,t *;D ;S
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Which of the following are intensive properties?

(1) Kinetic energy
(2) Specific enthalpy
(3) Pressure
(4) Entropy

!"#!$%&' () *+ ,-" *. /&? AVG ;S?

(1). ,.U"+!I, ~:.F
(2). !0!4N c2 P<$MD
(3).36.0
(4). c2 IJ �MD

(A) Only 1 and 3
,+ 0$ 1 s? 3

(B) Only 2 and 3
,+ 0$ 2 s? 3

(C) Only 1, 3 and 4
,+ 0$ 1, 3 s? 4

(D) Only 2 and 4
,+ 0$ 2 s? 4

(B) 

201 103 A uniform flow is one when (A) 
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c, BM>?0'F"4D$ /0.; '6 ;< :6

(A) the flow parameters at any given instant 
remain same at every point
!,*D @D !3c Ac '�.$ M? /0.; M<?.(DI? ;?
!623V M? c, ;D ?;'+ ;<

(B) the flow parameters vary uniformly 
throughout
/0.; M<?.(DI? ;? :A; *(." �M *+ !@� ;8'+ ;S

(C) an imaginary situation
c, ,.t!", %�P!'

(D) non-existing
A<? (-:_3.
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The wetted perimeter for a pipe running full of 
water is equal to: Where d is the diameter of the 
pipe.

M."D *+ @?+ c, 6;'+ M.UM ,+ !$c AD$D M>?!1
6?.6? ;<: :;.Y d M.UM ,. �.* ;<Q "

(A) πd/2

(B) 2πd

(C) πd

(D) πd4/2

(C) 
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105 The intensity of pressure in a liquid due its 
depth will, very with depth:

c, '?$ () 36.0 ,D 'D�'. ]*,D A;?.H ,+
,.?G, A;?.H *+ !@� ;8AD:

(A) directly
/��9o �M *+

(B) indirectly
B/��9o �M *+

(A) 



(C) Both directly and directly
/��9os? B/{o�M *+

(D) None of these
U"(+ *+ ,8H ";D 2
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Addition of heat at constant pressure to a gas 
results in

c, A<* M? A(� ,+ :8x ,. !"?2'? 36.0 ,.
M>?G.( ;8'. ;<

(A) raising its temperature
BM"+ '.M(." ,8 6�. ?;. ;<

(B) raising its pressure
BM"+ 36.0 ,8 6�. ?;. ;<

(C) raising its volume
U*,+ =9'" ,8 6�.".

(D) raising its temperature and doing external 
work
BM". '.M(." 6�.,? s? 6.;?D ,.( ,?".

Question 
Withdrawn 
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107 Three metal walls of same thickness and cross 
sectional area have thermal conductivities 2k, 
4k and 6k respectively. The temperature drop 
across the walls (for same heat transfer) will be 
in the ratio:

*(." (8I.H s? b�* *+ "$ o+mf$ ,D 'D"
1.'V 3D0.?82 ,D '.MD9 T.$,'. b(4j 2k, 4k s?
6k ;<Q 3D0.?82 () '.M(." () ,(D (]*D ~¡.
;\.2'?G ,+ !$c) !,* B"VM.' () ;8AD?

(A) 3:2:1

(B) 1:1:1

(C) 1:2:3

(D) 



(D) None of these
U"(+ *+ ,8H ";D 2
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Extensive property of a system is one whose 
value :

c, /G.$D ,D �.M, *2M!n c, ;< !:*,. (_�:

(A) depends on the mass of the system, like 
volume
M>?(.G ,D '?;, /G.$D ,+ ¢�(." M? !"@F?
,?'. ;<

(B) does not depend on the mass of the system, 
like temperature, pressure etc.
'.M(.", 36.0 =!3 ,D '?;, /G.$D ,+ ¢�(."
M? !"@F? ";D 2,?'. ;<

(C) is not dependent on the path followed but on 
the state
M.$" (.AF M? !"@F? ";D 2 ;< $+!," %�P!' M? ;<

(D) is dependent on the path followed and not 
on the state
T$"+ 0.$+ (.AF M? !"@F? ;< s? %�P!' M? ";D 2 ;<

(A) 
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Which of the following refrigerant 
characteristics change constantly during the 
cooling cycle?

4D'$" Tb ,+ 3-?." !"#!$%&' () *+ ,-" *.
4D'$, !04+5'.cY $A.'.? 63$'D ;<?

(A) pressure and phase
36.0 s? T?G

(B) temperature and pressure
'.M(." s? 36.0

(C) phase and flow
T?Gs? /0.;

(D) flow and pressure
/0.; s? 36.0

(A) 
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110 Ornaments are cast by:

A;"82 ,8 r.$. :.'. ;<:

(A) continuous casting
!"?2'? r$.H

(B) slush casting
*$4 r$.H

(C) die casting
L.H r$.H

(D) centrifugal casting
,) ¢.M*.?D r$.H

(B) 
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The function of a flywheel is to

£.H¤D$ ,. ,.9F ;<

(A) facilitate start of machine
(4D" ,D 4V¥=' () *V!01.

(B) smooth out power impulses
!6:$D =0+A82 ,8 *VT.� 6".".

(C) act as pulley for belt drive
6+^ LJ .U0 ,+ !$c T?&D ,+ �M () ,.9F ,?".

(D) to store energy for periods of failure of 
main supply
(Vz=M_!'F ,D !0f$'. ,D B0!1 ,+ !$c ~:.F
@2L.? ,?"+ ,+ !$c

(D) 
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112 After cold forming, steel balls are subjected to:

|2 L 6"."+ ,+ 6.3, dD$ A)382 ,+ B1D" ;S:

(A) normalising
*.(.k

(B) tempering
4.2' ,?".

(C) electroplating
!03¦ 9V'

(D) 



(D) stress relieving
'".0 (V%W ,?".
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Quick return motion mechanism is typically 
used in which of the following machine? 

'V?2' 0.M*D A!' !b9.!0!1 =('-? M? !"#!$%&'
() *+ !," (4D"82 () ]M98A !,9. :.'. ;<?

(A) Open die forge
&V$D L.H f8:F

(B) Hydraulic press
;.ULJ 8!$, /+*

(C) Shaper
4+M?

(D) Lathe
$<P

(C) 
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Rotary compressors are suitable for

?8I?D ,§+**F ]M9VW ;S

(A) large discharge at high pressure
]� 36.0 M? 6x. !"0F;"

(B) low discharge at high pressure
]� 36.0 M? ,( !"0F;"

(C) large discharge at low pressure
,( 36.0 M? 6x. !"0F;"

(D) low discharge at low pressure
,( 36.0 M? ,( !"0F;"

(C) 
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115 The typical air fuel ratio in a diesel engine 
under rated conditions lies in the range of? 

c, LD:$ U2:" () /�MD 0.9V H21" B"VM.'
!"1.F>?' %�P!'982 ,+ ';' !," *D(.982 () !"!;'
;<?

(B) 



(A) 10 to 1
10 *+ 1

(B) 20 to 1
20 *+ 1

(C) 50 to 1
50 *+ 1

(D) 2 to 1
2 *+ 1
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In four stroke cycle engines, an ample amount 
of ____________ is used during intake and 
exhaust processes.

T.? dJ 8, Tb U2:"82 (),  *+0" s? !",.*
/!b9.�2 ,+ 3-?." ____________ ,D M9.Fi
(.m. ,. ]M98A !,9. :.'. ;<Q

(A) heat
A(�

(B) pressure
36.0

(C) power
4%W

(D) None of these
U"(+ *+ ,8H ";D 2

(B) 
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117 If a light and a heavy body have equal kinetic 
energy of translation, then

9!3 c, ; +̈ s? @.?D !",.9 () B"V0.3 ,D
*(." A!'4D$ ~:.F ;8'D ;<, '8

(A) lighter body will have smaller momentum
;$,+ 4?D? () ,( A!' ;8AD

(B) heavy body will have smaller momentum
@.?D 4?D? () P8xD A!' ;8AD

(C) both will have same momentum

(A) 



38"82 c, ;D A!' ;8AD

(D) unpredictable
B/{.!4'
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The purpose for which the quick return 
mechanisms used:-

!,* ]©+ª ,+ !$c «>?' >?I"F !b9.!01D ,.
]M98A !,9. :.'. ;<?

(A) To convert reciprocating motion into 
oscillatory motion
/{.A.(D A!' ,8 38$" A!' () M>?0!'F' ,?"+ ,+
!$c

(B) To convert oscillatory motion into 
reciprocating motion
38$" A!' ,8 /{.A.(D A!' () M>?0!'F' ,?"+ ,+
!$c

(C) To convert reciprocating motion into rotary 
motion
/{.A.(D A!' ,8 �_GF" A!' () M>?0!'F' ,?"+ ,+
!$c

(D) To convert rotary motion into reciprocating 
motion
�_GF" A!' ,8 /{.A.(D A!' () M>?0!'F' ,?"+ ,+
!$c

(D) 
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119 The clutche that include shoes and spider inside 
the rim of the pulley is:-

M_$D ,+ >?( ,+ B23? 4_ s? ¬.UL? ,8 4.!($
,?"+ 0.$. ­T ;<: -

(A) Centrifugal clutch
,+ ®.M*.?,­T

(B) Cone clutch
42,V ­T

(C) Multi plate cluch
(^D y+I­T

(A) 



(D) Single plate cluch
c,$y+I­T
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Which of the following statements is true?

!"#!$%&' () *+ ,-" *+ ,P" *{ ;S?

(A) A comparator needs to be calibrated
c, 'V$!"m ,8 :.2T"+ ,D =0ª,'. ;<

(B) A comparator need not be calibrated
c, 'V$!"m ,8 :.2T"+ ,D =0ª,'. ";D 2 ;<

(C) A comparator contains a calibrated scale
c, 'V$!"m () c, ,< !$ +̄I+L°+ $ ;8'. ;<

(D) A comparator is highly accurate over its 
complete measuring range
c, 'V$!"m BM"D M_GF (.M *D(. M? B{!1,
*ID, ;<

(A) 
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In a micrometer screw gauge, circular scale is 
marked on:

c, (.Ub8(DI? M)T (.M" (), A8$.,.? (.M,
!T!±' !,9. A9. ;<:

(A) thimble
"8,

(B) ratchet
4.²I

(C) stud
I+,

(D) sleeve
=\D"

(A) 
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122 Hardness of steel depends on :

dD$ ,D ,|8?'. U* M? !"@F? ,?'D ;<:

(A) amount of cementite it contains

(B) 



*D()I*.UI ,D (.m. :8 U*() 4.!($ ;<

(B) amount of carbon it contains
,.6F" ,D (.m. :8 U*() 4.!($ ;<

(C) contents of alloying elements
!(l 1.'V '«82 ,D *.(CD

(D) method of manufacture of steel
dD$ ,+ !"(.FG ,D !0!1
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An alloy steel contains :

c, c$�9 dD$ () 4.!($ ;S:

(A) more than 0.5% Mn and 0.5% Si
0.5% *+ B!1, Mn s? 0.5% Si

(B) less than 0.5% Mn and 0.5% Si
0.5% *+ ,( Mn s? 0.5% Si

(C) more than 0.35% Mn and 0.5% Si
0.35% *+ B!1, Mn s? 0.5% Si

(D) less than 0.35% Mn and 0.5% Si
0.35% c(c"s? 0.5% *D *+ ,(

(C) 
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Steel which destroys by burning is called :

dD$ :8 :$"+ *+ "N ;8 :.'D ;< ]*+ ,;. :.'. ;<:

(A) Alloy steel
B$�9 dD$

(B) Carbon steel
,.6F" dD$

(C) Silicon steel
!*!$,�" dD$

(D) Killed steel
!,�dD$

(D) 

201 125 Use of CIM technology offers a layout 
architecture where computation takes place 

(C) 
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*D=Hc( /-g8!A,D ,. ]M98A c, 34.
=!,F I+³? /3." ,?'. ;< :;.2 AG". ;8'D ;<

(A) using line information
$.U" :.",.?D ,. ]M98A ,?

(B) using virtual memory
=@.*D [́!' ,. ]M98A ,?

(C) using on line information and multi-
processing
e"$.U" :.",.?D s? 67 /*2°?G ,. ]M98A
,?

(D) None of these
U"(+ *+ ,8H ";D 2
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Product cost implies

]µ.3 $.A' ,. '.µ9F ;<

(A) primary costs
/.P!(, $.A'

(B) primary cost and factory overheads
/.P!(, $.A' s? f< uJ D �0?;+L¦*

(C) factory expenses
,.?&."+ ,+ &T¶

(D) primary cost and factory expenses
/.P!(, $.A' s? ,.?&."+ ,+ &T¶

(B) 
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127 3-dimensional iconic models

3-=9.(D /!'!·' (�L$

(A) convey more or less a real situation
0.\!0, %�P!' ,8 ,( 9. E.3. �W,?".

(B) can easily check the overhead structures
=*."D *+ �0?;+L *2?T".�2 ,D :.2T ,? *,'.
;S

(D) 



(C) can easily explain the layout to management
=*."D *+ /621" ,8 $+=]I *(�. *,'. ;S

(D) All options are correct
*@D !0,t *;D ;S
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It is known that ‘H’ is the head of water under 
which the turbine is working. The power 
developed by a turbine is

9; (.$_( ;< !, 'cT' M."D ,. /(V& ;< !:*,+ ';'
I?6.U" ,.( ,? ?;D ;<Q c, I?6.U" h.?.
!0,!*' 4%W ;<

(A) Directly proportional to H1/2

H1/2 ,+ !$c *D1+ ="VM.!',

(B) Inversely proportional to H1/2

H1/2 ,+ !$c !0M?D'': ="VM.!',

(C) Directly proportional to H3/2

H3/2 ,+ !$c *D1+ ="VM.!',

(D) Inversely proportional to H3/2

H3/2 ,+ !$c !0M?D'': ="VM.!',

(C) 
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In a centrifugal pump, the liquid enters the 
pump

c, ,+ ®.M*.?, M2M (), '?$ M2M () /0+4 ,?'. ;<

(A) at the centre
,) ¢ ()

(B) at the top
4D5F M?

(C) at the bottom
'$ M?

(D) None of these
U"() *+ ,8H ";D 2

(A) 

201 130 (A) 



09-
09-
2018

High specific speed of turbine implies that it is :

I?6.U" ,D ]� !0!4N A!' ,. '.µ9F 9; ;< !,:

(A) propeller turbine
/8M+$? I?6.U"

(B) Francis turbine
¸.2!** I?6.U"

(C) Impulse turbine
U2M¹ I?6.U"

(D) Francis turbine or impulse turbine
¸.2!** I?6.U" 9. Uº¹ I6.FU"
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The presence of reflector in nuclear power 
plants results in:

M?(.GV ~:.F ,.?&."82 () M?.0'F, ,D ]M%�P!'
,+ M>?G.( *+:

(A) increased production of neutrons
k_IJ �"* ,+ ]µ.3" () 0[%» 7H

(B) complete absorption of neutrons
k_IJ �"* ,. M_?. B0485G

(C) controlled production of neutrons
k_IJ �"* ,. !"92!m' ]µ.3"

(D) decreased leakage of neutrons
k_IJ �"* ,+ >?*.0 () ,(D

(D) 
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132 The fuel needed, with reflector in nuclear power 
plant, in order to generate sufficient neutrons to 
sustain a chain reaction, would be:

c, M?(.GV ~:.F ,.?&."+ () M?.0'F, ,+ *.P, 
l[2&$. /!'!b9. ,8 6".c ?&"+ ,+ !$c M9.Fi
k_IJ �" ]µ� ,?"+ ,+ !$c , H21" ,D :�?', 9;
;8AD:

(A) more
B!1,

(B) 



(B) less
,(

(C) same
6?.6?

(D) zero
4_k
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A diesel power plant is best suited as:

c, LD:$ M.0? y.2I *6*+ ]M9VW ;< :<*+:

(A) base load plant
6+* $8L y.2I

(B) stand by plant
dSL6.9 y.2I

(C) general purpose plant
*.(.k ]©+ªy.2I

(D) None of these
U"(+ *+ ,8H ";D 2

(B) 
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134 A thermal power station was designed to burn 
coal containing 12% ash. When the plant 
actually started operating, coal having 22% ash 
was made available. Which unit of the plant will 
need major modifications?

c, P(F$ M.0? d+4" ,8 12% ?.& 9VW ,89$+
,8 :$."+ ,+ !$c �M.2!,' !,9. A9. P.Q :6
,.?&.". 0.\0 () ,.( ,?"+ ,+ !$c 4V� ,?
!39. A9., '6 22% ?.& 9VW ,89$. ]M$¼
,?.9. A9. I ,.?&."+ ,D ,-" *D U,.H ,8 6x+
63$.0 ,D =0ª,'. ;8AD?

(A) Water treatment plant 
:$ ]MT.? y.2I

(B) Pulverising unit
MV½?.U!:2A U,.H

(C) 



(C) Ash handling unit
?.& *2@.$"+ 0.$D U,.H

(D) Cooling towers
:$ 4D'$, (D".?
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The probability distribution taken to represent 
the completion time in PERT analysis is:

MBIF !0¾+5G () *(.M" *(9 ,. /!'!"!1«
,?"+ ,+ !$c !$9. A9. *2@.�'. !0'?G ;<:

(A) Gamma distribution
A.(. !0'?G

(B) Normal distribution
*.(.k !0'?G

(C) Beta distribution
6DI. !0'?G

(D) Log-normal distribution
$�A-*.(.k !0'?G

(C) 
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136 Which of the following statements is true?

A. Efficiency of screw depends upon lead of the 
screw.
B. Efficiency of the screw depends upon helix 
angle but does not depend on friction angle.

!"#!$%&' () *+ ,-" *. ,P" *{ ;<?

A. ¿_ ,D o('.¿_ ,+ BC@.A M? !"@F? ,?'D
;<Q
B. ¿_ ,D o('. ;+!$�,8G M? !"@F? ,?'D ;<
$+!," �5FG ,8G M? !"@F? ";D 2,?'D ;<Q

(A) Only A
!*fF A

(B) Only B
!*fF B

(C) Both A and B

(A) 



A s? B 38"82

(D) None of these
U"(+ *+ ,8H ";D 2

201
09-
09-
2018

137

Which of the following statements is true?

A. Efficiency of the screw decreases with 
increase of coefficient of friction
B. Clutch and coupling can be considered to be 
same.

!"#!$%&' () *+ ,-" *. ,P" *{ ;<?

A. �5FG AVG.2, ,D 0[%» ,+ *.P¿_ ,D o('.
,( ;8 :.'D ;<Q
B. ­Ts? ,M!$2A ,8 *(." (.". :. *,'. ;<Q

(A) Only A
!*fF A

(B) Only B
!*fF B

(C) Both A and B
A s? B 38"82

(D) None of these
U"(+ *+ ,8H ";D 2

(A) 
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138 Height of the centre measured from the bed of 
the lathe as compared to swing diameter over 
the bed is

&?.3 ,+ !6\? *+ (.MD AH ,) ¢ ,D ~2 T.H %R2A
�.* ,D 'V$". (), !6\? M? ;<

(A) half
=1.

(B) double
38AV".

(C) same
6?.6?

(A) 



(D) four times
T.? AV".
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In a locomotive, the maximum magnitude of the 
unbalanced force along the perpendicular to the 
line of stroke, is known as 

c, $8,8(8!I0 (), dJ 8, ,D ?+&. ,+ $260' ,+
*.P B*2'V!$' 6$ ,D B!1,'( M>?(.G, ,8
:.". :.'. ;<

(A) tractive force
IJ < %u0 6$

(B) swaying couple
R+!92A ,À$

(C) hammer blow
;<(? Á8

(D) None of these
U"(+ *+ ,8H ";D 2

(C) 
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A shock wave which occurs in a supersonic 
flow represents a region in which

c, *VM?,8!", /0.; () c, 3;4' ,D $;?
;8'D ;< c, Â*+ o+m ,. /!'!"!1« ,?'D ;< !:*()

(A) a zone of silence exists
(-" ,. c, o+m (-:_3 ;<

(B) there is no change in pressure, temperature 
and density
36.0, '.M(." s? �"« () ,8H 63$.0 ";D 2 ;<

(C) there is sudden change in pressure, 
temperature and density
36.0, '.M(." s? �"« () BT.", M>?0'F"
;8'. ;<

(D) velocity is zero.
0+A 4_k ;<

(C) 


